chapter 7

electrodynamics —
fields and waves
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The electromagnetic field laws, derived thus far from the
empirically determined Coulomb-Lorentz forces, are correct
on the time scales of our own physical experiences. However,
just as Newton’s force law must be corrected for material
speeds approaching that of light, the field laws must be cor-
rected when fast time variations are on the order of the time it
takes light to travel over the length of a system. Unlike the
abstractness of relativistic mechanics, the complete elec-
trodynamic equations describe a familiar phenomenon—
propagation of electromagnetic waves. Throughout the rest
of this text, we will examine when appropriate the low-
frequency limits to justify the past quasi-static assumptions.

7-1 MAXWELL'S EQUATIONS
7-1-1 Displacement Current Correction to Ampere’s Law

In the historical development of electromagnetic field
theory through the nineteenth century, charge and its electric
field were studied separately from currents and their
magnetic fields. Until Faraday showed that a time varying
magnetic field generates an electric field, it was thought that
the electric and magnetic fields were distinct and uncoupled.
Faraday believed in the duality that a time varying electric
field should also generate a magnetic field, but he was not
able to prove this supposition.

It remained for James Clerk Maxwell to show that Fara-
day’s hypothesis was correct and that without this correction
Ampere’s law and conservation of charge were inconsistent:

VxH=];>V J;=0 V)
9
Vg +2=0 )

for if we take the divergence of Ampere’s law in (1), the
current density must have zero divergence because the
divergence of the curl of a vector is always zero. This result
contradicts (2) if a time varying charge is present. Maxwell
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realized that adding the displacement current on the right-
hand side of Ampere’s law would satisfy charge conservation,
because of Gauss'’s law relating D to ps (V- D=py).

This simple correction has far-reaching consequences,
because we will be able to show the existence of electro-
magnetic waves that travel at the speed of light ¢, thus proving
that light is an electromagnetic wave. Because of the
significance of Maxwell’s correction, the complete set of
coupled electromagnetic field laws are called Maxwell’s
equations;

Faraday’s Law

B dJ’
=22 § dl=-=1| B-dS 3
VXE o > LE d ¢ )s (3)

Ampere’s law with Maxwell’s displacement current correction

VXH=J,+22 > § H-dl=J' ]f-dS+iJ' D-dS 4)
at L s dt Jg
Gauss’s laws

V-D=pf$£D'dS=jvpde (5)

v-n=0:>§n-ds=0 (6)
S
Conservation of charge
d
V- Jf+—=0$§lf dS+d J' erdV=0 )

As we have justified, (7) is derived from the divergence of (4)
using (5).

Note that (6) is not independent of (3) for if we take the
divergence of Faraday's law, V: B could at most be a time-
independent function. Since we assume that at some point in
time B = 0, this function must be zero.

The symmetry in Maxwell’s equations would be complete if
a magnetic charge density appeared on the right-hand side of
Gauss's law in (6) with an associated magnetic current due to
the flow of magnetic charge appearing on the right-hand side
of (3). Thus far, no one has found a magnetic charge or
current, although many people are actively looking.
Throughout this text we accept (3)—(7) keeping in mind that if
magnetic charge is discovered, we must modify (3) and (6)
and add an equation like (7) for conservation of magnetic
charge.




490 Electrodynamics—Fields and Waves

7-1-2 Circuit Theory as a Quasi-static Approximation

Circuit theory assumes that the electric and magnetic fields
are highly localized within the circuit elements. Although the
displacement current is dominant within a capacitor, it is
negligible outside so that Ampere’s law can neglect time vari-
ations of D making the current divergence-free. Then we
obtain Kirchoff’s current law that the algebraic sum of all
currents flowing into (or out of) a node is zero:

V-J=0=>£J-ds=0=>2i,.=0 (8)

Similarly, time varying magnetic flux that is dominant
within inductors and transformers is assumed negligible
outside so that the electric field is curl free. We then have
Kirchoff’s voltage law that the algebraic sum of voltage drops
(or rises) around any closed loop in a circuit is zero:

VXE=0=>E=—VV=>§E-dl=0=>2'u,,=0 9
L

7-2 CONSERVATION OF ENERGY
7-2-1 Poynting’s Theorem
We expand the vector quantity

V- (EXH)=H-*(VXE)-E - (VXH)

B _ aD
=—H-—~E+——E- 1
H-35 a Bl 0

where we change the curl terms using Faraday’s and
Ampere’s laws.

For linear homogeneous media, including free space, the
constitutive laws are

D=¢E, B=uH 2

so that (1) can be rewritten as
d
v- (EXH)+E(%€E2+%#H2)=—E'Jf 3

which is known as Poynting’s theorem. We integrate (3) over a
closed volume, using the divergence theorem to convert the
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first term to a surface integral:
§ (ExH) -ds+1j (GeE*+3uH? dV = —j E-J;dV (4)
s dt Jy v
J V- (ExH)dV

We recognize the time derivative in (4) as operating on the
electric and magnetic energy densities, which suggests the
interpretation of (4) as

dw
Py +——=-P, 5
oue+ = (3)
where P, is the total electromagnetic power flowing out of
the volume with density

§ = ExH watts/m? [kg-s ] (6)

where § is called the Poynting vector, W is the electromag-
netic stored energy, and P; is the power dissipated or
generated:

Po..[=§ (ExH)-ds=§s -dS
S S
W= L [eE2+iuH?1dV (7

P,,=§ E-J;dV
A\

If E and J; are in the same direction as in an Ohmic conduc-
tor (E - J;=cE?), then P, is positive, representing pawer dis-
sipation since the right-hand side of (5) is negative. A source
that supplies power to the volume has E and J; in opposite
directions so that P, is negative.

7-2-2 A Lossy Capacitor

Poynting’s theorem offers a different and to some a
paradoxical explanation of power flow to circuit elements.
Consider the cylindrical lossy capacitor excited by a time
varying voltage source in Figure 7-1. The terminal current
has both Ohmic and displacement current contributions:

._€8Adv gAv_ _dv v _EA _
c=TetT "% ST R G

From a circuit theory point of view we would say that the
power flows from the terminal wires, being dissipated in the
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Figure 7-1 The power delivered to a lossy cylindrical capacitor vi is partly dissipated by
the Ohmic conduction and partly stored in the electric field. This power can also be
thought to flow-in radially from the surrounding electric and magnetic fields via the
Poynting vector § =EXH.

resistance and stored as electrical energy in the capacitor:

vt d, . 2
P=vi —E+I(2CU ) 9)

We obtain the same results from a field’s viewpoint using

Poynting’s theorem. Neglecting fringing, the electric field is
simply

E,=ul (10)

while the magnetic field at the outside surface of the resistor
is generated by the conduction and displacement currents:

oE, _oAv & dv_ .
iH-dl—‘L(]ﬁeE-)dS:}Hﬂwa— HataZ=i ay

where we recognize the right-hand side as the terminal cur-
rent in (8),

Hy=i/(2ma) (12)

The power flow through the surface at r = ¢ surrounding the
resistor is then radially inward,

§(Exn)-ds=—jf—'—ad¢dz=—vi (13)
. I8 sl 2ma

and equals the familiar circuit power formula. The minus
sign arises because the left-hand side of (13) is the power out
of the volume as the surface area element dS points radially
outwards. From the field point of view, power Hows into the
lossy capacitor from the electric and magnetic fields outside
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the resistor via the Poynting vector. Whether the power is
thought to flow along the terminal wires or from the sur-
rounding fields is a matter of convenience as the results are
identical. The presence of the electric and magnetic fields are
directly due to the voltage and current. It is impossible to have
the fields without the related circuit variables.

7-2-3 Power in Electric Circuits

We saw in (13) that the flux of § entering the surface
surrounding a circuit element just equals vi. We can show this
for the general network with N terminals in Figure 7-2 using
the quasi-static field laws that describe networks outside the
circuit elements:

VXE=02E=-VV
VxH=J;2V-J,=0

We then can rewrite the electromagnetic power into a surface
as

(14)

Pin=—§E><H~dS
s
=—J V- (ExH)dV
v

=LV-(VVXH)dV (15)

Figure 7-2 The circuit power into an N terminal network Zf_, Vil, equals the
electromagnetic power flow into the surface surrounding the network, —¢s ExH - dS.
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where the minus is introduced because we want the power in
and we use the divergence theorem to convert the surface
integral to a volume integral. We expand the divergence term
as

0

V- (VVxH)=H - (\'Z/x/VV)~VV-(V><H)
==J;-VW==-V-(J;V) (16)

where we use (14).
Substituting (16) into (15) yields

Pin:_,[ V " (J[V) dV
v

=—§>J,V-ds (17)
S

where we again use the divergence theorem. On the surface
S, the potential just equals the voltages on each terminal wire
allowing V to be brought outside the surface integral:

N
Pin= Z —VA§Jf'dS
k=1 S

N
=k§l A\ (18)

where we recognize the remaining surface integral as just
being the negative (remember dS points outward) of each
terminal current flowing into the volume. This formula is
usually given as a postulate along with Kirchoff’s laws in most
circuit theory courses. Their correctness follows from the
quasi-static field laws that are only an approximation to more
general phenomena which we continue to explore.

7-2-4 The Complex Poynting’s Theorem

For many situations the electric and magnetic fields vary
sinusoidally with time:

E(r, t) = Re [E(r) ¢™]

A ) (19)

H(r, t) = Re [H(r) ¢™*]
where the caret is used to indicate a complex amplitude that
can vary with position r. The instantaneous power density is
obtained by taking the cross product of E and H. However, it
is often useful to calculate the time-average power density
< 8>, where we can avoid the lengthy algebraic and trig-
onometric manipulations in expanding the real parts in (19).
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A simple rule for the time average of products is obtained by
realizing that the real part of a complex number is equal to
one half the sum of the complex number and its conjugate
(denoted by a superscript asterisk). The power density is then

S, t)=E(r, t)XH(r, t)
=YE(r) ™ + E*(r) e ™I x [H(r) ™ + A*(r) e 7]
= 3[E(r) x H(r) 2 + E*(r) x H(r) + E(r) x H*(r)
+E*(r) x H*(r) ¢ 2] (20)
The time average of (20) is then
<8 > =1{E*(r) x H(r) + E(r) x H*(1)]
=4 Re [E(r) x H*(r)]
=} Re [E*(r) x H(r)] (21)

as the complex exponential terms ¢**** average to zero over a

period T = 27/w and we again realized that the first bracketed
term on the right-hand side of (21) was the sum of a complex
function and its conjugate.

Motivated by (21) we define the complex Poynting vector as

§ =1E(r) x H*(r) (22)

whose real part is just the time-average power density.

We can now derive a complex form of Poynting’s theorem
by rewriting Maxwell’s equations for sinusoidal time varia-
tions as

V x E(r) = —jouH(r)
Vx H(r) = J/(r) + jwe E(r)
V - E(r) = j(r)/e
V-Br)=0
and expanding the product
V- 8=V BEr)x A*r)] = 4{A*(r) - VX E(r)— Er) - Vx H*(r)]

(23)

=3~ joop | H(D)| 2 + jwe | E(r)]| 21— 3E(r) - JF(r) (24)
which can be rewritten as
V- §+2jw[<wn>—<w,>]=-B, (25)
where

<wn>=iu|HT)|?
<w,>=1%e|E@)|? (26)
By=3E) - J¥ ()
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We note that <w,,> and <w,> are the time-average magnetic
and electric energy densities and that the complex Poynting’s
theorem depends on their difference rather than their sum.

7-3 TRANSVERSE ELECTROMAGNETIC WAVES
7.8-1 Plane Waves

Let us try to find solutions to Maxwell’s equations that only
depend on the z coordinate and time in linear media with
permittivity € and permeability x. In regions where there are
no sources so that p;=0, J;=0, Maxwell's equations then
reduce to

oE,, OF,. oH
O, =22
9z az® M
oH, oH., OE
- +

(1)

I AT] @
oF,
=0
€ % (3)
oH,
u—=0 4)
a9z

These relations tell us that at best E, and H, are constant in
time and space. Because they are uncoupled, in the absence
of sources we take them to be zero. By separating vector
components in (1) and (2) we see that E, is coupled to H, and
E, is coupled to H,:

OE,__ oH, OE_ oH,

az Pa a2 Ma
(5)
oH,__ OE,  oH,_ 3E,
—_— = ——, =g—
oz at . oz "ot

forming two sets of independent equations. Each solution has
perpendicular electric and magnetic fields. The power flow
§=EXH for each solution is z directed also being perpendic-
ular to E and H. Since the fields and power flow are mutually
perpendicular, such solutions are called transverse elec-
tromagnetic waves (TEM). They are waves because if we take
3/9z of the upper equations and 4/d¢ of the lower equations
and solve for the electric fields, we obtain one-dimensional
wave equations:

o’E, 1 o°E, o’E,
2 2

1 3’E,
22 2 a2’ 22 ¢ ot

2 (6)
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where ¢ is the speed of the wave,
1 1 3x10°
c= = =
VEQ N EoMoVErfhy N Erfhy

In free space, where ¢, = 1 and u, = 1, this quantity equals the
speed of light in vacuum which demonstrated that light is a
transverse electromagnetic wave. If we similarly take d/dt of
the upper and 4/dz of the lower equations in (5), we obtain
wave equations in the magnetic fields:

m/sec @)

®)

7-3-2 The Wave Equation

(a) Solutions

These equations arise in many physical systems, so their
solutions are well known. Working with the E, and H, equa-
tions, the solutions are

E(z,)=E (t—2z/c)+E_(t+z/c)

9)
H,(z,t)=H.(t—z/c)+ H_(t +z/c) (
where the functions E,, E_, H,, and H_ depend on initial
conditions in time and boundary conditions in space. These
solutions can be easily verified by defining the arguments «
and B8 with their resulting partial derivatives as

z  da da 1
ae=t-2%=b  57:
aB B 1 (10)
z
=t+-p—=1, —_—=—
B c$at 9z ¢

and realizing that the first partial derivatives of E,(z, t) are

aE,_dE_+a_a+dE_ ap
d da ot dB 3t
_dE. dE_

da " dp
OE, _dE. da dE_ 0B

3z da 9z dB az
1( dE., dE_)

an

c\ da dB
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The second derivatives are then
O°E, d°E.da d’E_oB
o'  da® at dB® ot

d’E, dE_
=71?'+7d§"
O°E, _ _l_(_d2E+ da_ d*E_ 3B (12
327 ¢\ da® 3z dB? &z
LR LR 1 PR
"N da? dg¥) T ald

which satisfies the wave equation of (6). Similar operations
apply for H,, E,, and H,.

In (9), the pair H.: and E. as well as the pair H_ and E_ are
not independent, as can be seen by substituting the solutions
of (9) back into (5) and using (11):

OE,_ _ 9H, l(_@. d_E:) - (4H+ @)
. ot e\ daag) M Tag) ¥

The functions of a and B8 must separately be equal,

d d
1o B+~ uecH) =0, E(E-*'IACH-)—O (14)

which requires that

Ei,=pucH,= \/th E_=—p.cH_=—\/_§_H_ (15)

where we use (7). Since ¥ u/e has units of Ohms, this quantity
is known as the wave impedance 7,

11=\/;—;z120‘n'\/-;;r (16)
& Ey

and has value 1207 =377 ohm in free space (u, =1, &, =1).
The power flux density in TEM waves is

S=ExH = [E.(t—z/)+E_(1+2/0)]i,
X[H.(t—z/c)+ H_(t +z/c)]i,
=(E.H,+E_H_-+E_H.,+E.H.), a7

Using (15) and (16) this result can be written as

s,=%(Ei—E’1) (18)
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where the last two cross terms in (17) cancel because of the
minus sign relating £_ to H_ in (15). For TEM waves the total
power flux density is due to the difference in power densities
between the squares of the positively z-directed and nega-
tively z-directed waves.

(b) Properties

The solutions of (9) are propagating waves at speed ¢. To
see this, let us examine E.(¢t —z/c) and consider the case where
at z=0, E.(t) is the staircase pulse shown in Figure 7-3a. In
Figure 7-36 we replace the argument ¢ by ¢ —z/c. As long as
the function E, is plotted versus its argument, no matter what
its argument is, the plot remains unchanged. However, in
Figure 7-3¢ the function E, (¢t —z/c) is plotted versus ¢ result-
ing in the pulse being translated in time by an amount z/¢c. To
help in plotting this translated function, we use the following
logic:

(i) The pulse jumps to amplitude E; when the argument is
zero. When the argument is ¢ — z/c, this occurs for ¢ = z/c.
(ii) The pulse jumps to amplitude 2E, when the argument
is 7. When the argument is ¢ —z/c, this occurs for ¢ =
T+z/c.
(ili) The pulse returns to zero when the argument is 27T, For
the argument ¢ —z/c, we have t =2T + z/c.

E.(0),3=0 E,(¢—%)
A
Eo‘ Eo
1 ]
T 2T “t T 2T ,—E’-
(a) (b)
E,t—%) E e —%)
2K 2E,
EO Eo
| -~ | >
[ 2 247 Zapr Tt lee—2T)cte—T) ¢ =
c c c

(c)

(d)

Figure 7-3 (a) E.(t) at z =0 is a staircase pulse. (b) E.(¢) always has the same shape as
(a) when plotted versus ¢, no matter what ¢ is. Here ¢ =t —z/c. (¢) When plotted versus
t, the pulse is translated in time where z must be positive to keep ¢ positive. (d) When
plotted versus z, it is translated and inverted. The pulse propagates at speed ¢ in the
positive z direction.
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Note that z can only be positive as causality imposes the
condition that time can only be increasing. The response at
any positive position z to an initial E, pulse imposed at z =0
has the same shape in time but occurs at a time z/c later. The
pulse travels the distance z at the speed c. This is why the
function E.(t—z/c) is called a positively traveling wave.

In Figure 7-3d we plot the same function versus z. Its
appearance is inverted as that part of the pulse generated first
(step of amplitude E,) will reach any positive position z first.
The second step of amplitude 2E, has not traveled as far
since it was generated a time 7T later. To help in plotting, we
use the same criterion on the argument as used in the plot
versus time, only we solve for z. The important rule we use is
that as long as the argument of a function remains constant,
the value of the function is unchanged, no matier how the
individual terms in the argument change.

Thus, as long as

t —z/c = const (19)

E (t—z/c)1s unchanged. As time increases, so must z to satisfy
(19) at the rate

t-—£=c0nst:>%=c (20)
¢ dt
to keep the E, function constant.

For similar reasons E_(t +z/c) represents a traveling wave at
the speed ¢ in the negative z direction as an observer must
move to keep the argument ¢+ z/c constant at speed:

z dz
t+—=const>—=—¢ 21
c de

as demonstrated for the same staircase pulse in Figure 7-4.
Note in Figure 7-4d that the pulse is not inverted when
plotied versus z as it was for the positively traveling wave,
because that part of the pulse generated first (step of ampli-
tude E,) reaches the maximum distance but in the negative z
direction. These differences between the positively and nega-
tively traveling waves are functionally due to the difference in
signs in the arguments (¢ —z/c) and (¢ + z/c).

7-3-3 Sources of Plane Waves

These solutions are called plane waves because at any
constant z plane the fields are constant and do not vary with
the x and y coordinates.

The idealized source of a plane wave is a time varying
current sheet of infinite extent that we take to be x directed,
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E_(t),2=0 E_{t+%)
L N
Eq Eq]
T r t T 27 e+ 2
(@) (b)
E_(t+2
E_(t+%) ety

2K, __l_ 2K,
Eo[~ | I_,_ Eqy

|
| -2 “Fyr -Zior t —et —ele=T) —c(¢=2T| 73

(d)

Figure 7-4 (a) E_(t) at z = 0 is a staircase pulse. (b) E_(¢) always has the same form of
(a) when plotted versus ¢. Here ¢ =t +2/c. (c¢) When plotted versus ¢, the pulse is
translated in time where z must be negative to keep ¢ positive. (d) When plotted versus z,
it is translated but not inverted.

as shown in Figure 7-5. From the boundary condition on the
discontinuity of tangential H, we find that the x-directed
current sheet gives rise to a y-directed magnetic field:

Hy(z2=0,)~H,(2=0_)=—K,(t) (22)

In general, a uniform current sheet gives rise to a magnetic
field perpendicular to the direction of current flow but in the
plane of the sheet. Thus to generate an x-directed magnetic
field, a y-directed surface current is required.

Since there are no other sources, the waves must travel
away from the sheet so that the solutions on each side of the
sheet are of the form

(H.,(t—2/c)

= 7IH+(t"Z/C), Z>0
Hyz, 0= { H_(t+2/c)

—nH_(t+2/c), 2<0
(23)

For z >0, the waves propagate only in the positive z direction.
In the absence of any other sources or boundaries, there can
be no negatively traveling waves in this region. Similarly for
z <0, we only have waves propagating in the —z direction. In
addition to the boundary condition of (22), the tangential
component of E must be continuous across the sheetat z=0

E(s =]

H.()— H_(t) = —K(t)

n[H.()+H_(¢)]=0 2

}: H.(t)=—H_(t)= (24)
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x
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K. ()
y
H_ H,
K, (¢ + 2 2
E, (3,1} = K, (¢ c ) )\ E, (z,t)=—n;(‘(t_:)
S <«—mHo Ke{t + 2z ) . \ s
H * / | Ky (¢ —2%)
y (3, 8) 2 : Hy (z, l)=—2— c
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2Kol—
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° 1 P Eylz, )
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e_L_ L i"r]Ko? ct
- —nK3
(b)

Figure 7-5

(a) A linearly polarized plane wave is generated by an infinite current sheet.

The electric field is in the direction opposite to the current on either side of the sheet.
The magnetic field is perpendicular to the current but in the plane of the current sheet
and in opposite directions as given by the right-hand rule on either side of the sheet. The
power flow § is thus perpendicular to the current and to the sheet. (§) The field solutions
for ¢t >2T if the current source is a staircase pulse in time.
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so that the electric and magnetic fields have the same shape as
the current. Because the time and space shape of the fields
remains unchanged as the waves propagate, linear dielectric
media are said to be nondispersive.

Note that the electric field at z =0 is in the opposite direc-
tion as the current, so the power per unit area delivered by
the current sheet,

2
<(t
~EG=0,- K= 220 (25)
is equally carried away by the Poynting vector on each side of
the sheet:
2
———nK’(t)i,, z>0
Sz=0=ExH= (26)
—nKi (),
T3 i 2 <0

7-3-4 A Brief Introduction to the Theory of Relativity

Maxwell’s equations show that_electromagnetic waves
propagate at the speed c¢o=1/Veopo in vacuum. Our
natural intuition would tell us that if we moved at a speed v we
would measure a wave speed of ¢o— v when moving in the same
direction as the wave, and a speed co+v when moving in the
opposite direction. However, our intuition would be wrong,
for nowhere in the free space, source-free Maxwell’s equa-
tions does the speed of the observer appear. Maxwell’s equa-
tions predict that the speed of electromagnetic waves is ¢, for
all observers no matter their relative velocity. This assump-
tion is a fundamental postulate of the theory of relativity and
has been verified by all experiments. The most notable
experiment was performed by A. A. Michelson and E. W.
Morley in the late nineteenth century, where they showed
that the speed of light reflected between mirrors is the same
whether it propagated in the direction parallel or perpendic-
ular to the velocity of the earth. This postulate required a
revision of the usual notions of time and distance.

If the surface current sheet of Section 7-3-3 is first turned
on at ¢ =0, the position of the wave front on either side of the
sheet at time ¢ later obeys the equality

22—c2t?=0 27

Similarly, an observer in a coordinate systemm moving with
constant velocity ui, which is aligned with the current sheet at
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¢t =0 finds the wavefront position to obey the equality
22—ci*=0 (28)

The two coordinate systems must be related by a linear
transformation of the form

'=alz +a21, l'=b11 +b2l (29)

The position of the origin of the moving frame (z'=0) as
measured in the stationary frame is z = vt, as shown in Figure
7-6, so that a; and as are related as

O=a,vt+ast>av+as=0 30)

We can also equate the two equalities of (27) and (28),

22=cat? =27 = =(a:z +agt)’—ca(briz+bet):  (31)

so that combining terms yields
2
22(1 —a? +c§bf)—c§t“’(l +g§2"b§) —2(0102—Cgb1bg)ll =0
V]
(32)

Since (32) must be true for all z and ¢, each of the coefficients
must be zero, which with (30) gives solutions

1 __ vt
VI V- (o) )
-v 1

V1—(v/co)®’ ? V1= (v/co)?

e 3 = =

y 4

y
Figure 7-6 The primed coordinate system moves at constant velocity vi, with respect
to a stationary coordinate system. The free space speed of an electromagnetic wave is ¢,
as measured by observers in either coordinate system no matter the velocity v.
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The transformations of (29) are then

2
, z—ut ,_ t—wvifco

=————-———’ t = —

and are known as the Lorentz transformations. Measured
lengths and time intervals are different for observers moving
at different speeds. If the velocity v is much less than the
speed of light, (34) reduces to the Galilean transformations,

(34)

Hm z'~=2z—ut, t'a=t (35)
viex1
which describe our usual experiences at nonrelativistic
speeds.
The coordinates perpendicular to the motion are
unaffected by the relative velocity between reference frames

x=x, y=y (36)

Continued development of the theory of relativity is be-
yond the scope of this text and is worth a course unto itself.
Applying the Lorentz transformation to Newton’s law and
Maxwell's equations yield new results that at first appearance
seem contrary to our experiences because we live in a world
where most material velocities are much less than ¢,
However, continued experiments on such disparate time and
space scales as between atomic physics and astronomics verify
the predictions of relativity theory, in part spawned by Max-
well’s equations.

7-4 SINUSOIDAL TIME VARIATIONS
7-4-1 Frequency and Wavenumber
If the current sheet of Section 7-3-3 varies sinusoidally with

time as Re (K ¢™), the wave solutions require the fields to
vary as ¢ ¥ and ™¢*¥9;

K 5
e ——Oe’”“_"‘)), z>0

Hy(z,t)= 2
Re( +£2(2 ej”('+‘/‘)) , <0
N
Re( _nKo ej"’('_"‘)) , >0
E.(z,t) 2

Re( -————n;(o e”"“"’), z<0
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At a fixed time the fields then also vary sinusoidally with
position so that it is convenient to define the wavenumber as

2T e Ve
I¢-—A c—a) 7% (2)

where A is the fundamental spatial period of the wave. At a
fixed position the waveform is also periodic in time with
period T:

where f is the frequency of the source. Using (3) with (2) gives
us the familiar frequency-wavelength formula:

w=kDA=c “4)

Throughout the electromagnetic spectrum, sumrmarized in
Figure 7-7, time varying phenomena differ only in the scaling
of time and size. No matter the frequency or wavelength,
although easily encompassing 20 orders of magnitude, elec-
tromagnetic phenomena are all described by Maxwell’s equa-
tions. Note that visible light only takes up a tiny fraction of the
spectrum.

)]

Ameters 3x10° 3x10' 3x102 3  3x107? 3x10°43x10°% 3x107 3x107° " 3x107®
f (Hz)

o 10? 10 108 10° 10°  10% 10" 10" 10" 10®
L L I 1 | ] | 1 | | |
Power Radio and television Infrared Visible Ultraviolet X-rays Gamma
AM M (heat) light Red (700nm) rays

Orange (650nm)

\ _— /\ . / Yellow (600nm)

Circuit theory Microwaves (B;I'::n( :gg?‘::;')

Violet {400nm)

sinkz

\ 7 2n/k = *
-1

Figure 7-7 Time varying electromagnetic phenomena differ only in the scaling of time
(frequency) and size (wavelength). In linear dielectric media the frequency and
wavelength are related as fA = ¢ (w = kc), where ¢ = 1/¥epu is the speed of light in the
medium.
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For a single sinusoidally varying plane wave, the time-
average electric and magnetic energy densities are equal
because the electric and magnetic field amplitudes are related
through the wave impedance 7:

<Wm>=<w,>=ip|H|?=1¢|E|*=15uK?} (5)

From the complex Poynting theorem derived in Section
7-2-4, we then see that in a lossless region with no sources for
|z| >0 that P;=0 so that the complex Poynting vector has
zero divergence. With only one-dimensional variations with z,
this requires the time-average power density to be a constant
throughout space on each side of the current sheet:

<8§>=}Re[E(r)x H*(r))
_|smK3i,  2>0

6
—snKoi, z2<0 ©)

The discontinuity in <8 > at z = 0 is due to the power output of
the source.

7-4-2 Doppler Frequency Shifts

If the sinusoidally varying current sheet Re (K, ™) moves
with constant velocity vi,, as in Figure 7-8, the boundary
conditions are no longer at z =0 but at z =vt. The general
form of field solutions are then:

Re (H, e™+47%9), z>ut
Re (H_ g-4+49y, z<ut

Re (nH, e, z>ut
Re (—nH_ -7y <yt

Hy(z, )= {
%
Ee.t) =

where the frequencies of the fields @, and w_ on each side of
the sheet will be different from each other as well as differing
from the frequency of the current source w. We assume
v/c < 1 so that we can neglect relativistic effects discussed in
Section 7-3-4. The boundary conditions

E, (z=vt)=E, (z=vt)=> H, ™+ 179 =~ _ g5-'1*¥9)
H, (z=vt)— H, _(z=vt)=—K, (8)

Y ji 1— jeo_t(1 jart
$ H+ ejw_._l( v/c) -H._ em_ (1+v/c) — _KO em

must be satisfied for all values of ¢ so that the exponential time
factors in (8) must all be equal, which gives the shifted
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J\ Re(Koe iwt)
:=Re[——-n2K° efuatt—21)

-nKg dw_Ct+ %)

=Re[——e ] Ko jw, (t—2)
* 2 = —0 w,
Hy Re [ 3 ¢ LIS
jw_(t+ 5)
H,=Re[—Kzlg""' re ws ~ @l +2)

v
w_ = w(l c )

e ————— . —————— — ———— —

Figure 7-8 When a source of electromagnetic waves moves towards an observer, the
frequency is raised while it is lowered when it moves away from an observer.

frequencies on each side of the sheet as

NESA
O+ 1-vjc @ ¢/’

K 9)

~o(1-2) > A =-A=-2
¢ 2

where v/c « 1. When the source is moving towards an obser-
ver, the frequency is raised while it is lowered when it moves
away. Such frequency changes due to the motion of a source
or observer are called Doppler shifts and are used to measure
the velocities of moving bodies in radar systems. For v/c« 1,
the frequency shifts are a small percentage of the driving
frequency, but in absolute terms can be large enough to be
easily measured. At a velocity v =300 m/sec with a driving
frequency of f= 10'° Hz, the frequency is raised and lowered
on each side of the sheet by Af = +f(v/c) =+10* Hz.

(5]
1+v/c

7-4-3 Ohmic Losses

Thus far we have only considered lossless materials. If the
medium also has an Ohmic conductivity o, the electric field
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will cause a current flow that must be included in Ampere’s
law:

OE, _ oH,

dz Y
dH. oE, dE, (10)
—=—],~e—=—0E,~e—

az at at

where for conciseness we only consider the x-directed electric
field solution as the same results hold for the E,, H, solution.
Our wave solutions of Section 7-3-2 no longer hold with this
additional term, but because Maxwell’s equations are linear
with constant coefficients, for sinusoidal time variations the
solutions in space must also be exponential functions, which
we write as

E.(z,t)=Re (Eo i)
Hy(z. t) =Re (ﬁo ei(wz—h.))

where E, and H, are complex amplitudes and the wavenum-
ber k is no longer simply related to w as in (4) but is found by
substituting (11) back into (10):

-—jkfo = —jwp.I:Io
—jkI:Io = —jwe (1 +0'/jwe)lfo

(11

(12)

This last relation was written in a way that shows that the
conductivity enters in the same way as the permittivity so that
we can define a complex permittivity £ as

£ =¢e(l+oljwe) (1%)

Then the solutions to (12) are

E
;=%=4$k2=w2u5=w2u8(1+i) (14)
Hy k of Jwe

which is similar in form to (2) with a complex permittivity.
There are two interesting limits of (14):

(a) Low Loss Limit
If the conductivity is small so that o/we « 1, then the solution
of (14) reduces to

lim k=¢w~/E(1+2_" )=¢(-“3—%’ g) (15)

alwexl Jwe c

where ¢ is the speed of the light in the medium if there were
no losses, ¢=1/vue. Because of the spatial exponential
dependence in (11), the real part of k& is the same as for the
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lossless case and represents the sinusoidal spatial distribution
of the fields. The imaginary part of k represents the
exponential decay of the fields due to the Ohmic losses with
exponential decay length 3om, where 7 =~/m is the wave
impedance. Note that for waves traveling in the positive z
direction we take the upper positive sign in (15) using the
lower negative sign for negatively traveling waves so that the
solutions all decay and do not grow for distances far from the
source. This solution is only valid for small o so that the wave is
only slightly damped as it propagates, as illustrated in Figure
7-9a.

l‘f—f’]

e |R;13

>3

Low loss limit

(a)

e 13/8 ;—3/8

lze, ]

Large loss limit

(b)

Figure 7-9 (a) In a slightly lossy dielectric, the fields decay away from a source at a slow
rate while the wavelength is essentially unchanged. () In the large loss limit the spatial
decay rate is equal to the skin depth. The wavelength also equals the skin depth.
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(b) Large Loss Limit
In the other extreme of a highly conducting material so
that o/we » 1, (14) reduces to

lim k%~ —jopo >k =201 ’{ 5=y — 2 e
o/we»1 wpo

where & is just the skin depth found in Section 6-4-3 for
magneto-quasi-static fields within a conductor. The skin-
depth term also arises for electrodynamic fields because the
large loss limit has negligible displacement current compared
to the conduction currents.

Because the real and imaginary part of k& have equal
magnitudes, the spatial decay rate is large so that within a few
oscillation intervals the fields are negligibly small, as illus-
trated in Flgure 7-9b. For a metal like copper with g = o=
47 %107 henry/m and o =6X 107 siemens/m at a frequency
of 1 MHz, the skin depth is § =6.5X% 10™° m.

7-4-4 High-Frequency Wave Propagation in Media

Ohm’s law is only valid for frequencies much below the
collision frequencxes of the charge carriers, which is typlcally
on the order of 10'® Hz. In this low-frequency regime the
inertia of the particles is negligible. For frequencies much
higher than the collision frequency the inertia dominates and
the current constitutive law for a single species of charge
carrier g with mass m and number density n is as found in
Section 3-2-24d:

3] /ot =wie E (17)

where w, =V q!n/ me is the plasma frequency. This constitutive
law is accurate for radio waves propagating in the ionosphere,
for light waves propagating in many dielectrics, and is also
valid for superconductors where the collision frequency is
zero.

Using (17) rather than Ohm’s law in (10) for sinusoidal time
and space variations as given in (11), Maxwell’s equations are

aE, oH,
P ’=> —jkEo = ~jopHo
(18)
2
% = _]: - £—$ —]kHo = —]0)8(1 _—"‘)Eo

The effective permittivity is now frequency dependent:

=&(1-wy/w®) (19)
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The solutions to (18) are

Eo op  k 2 _ 2 ,_w2—w§
FI;— p —wé.:}k =w ué = : (20)

For w > w,, k is real and we have pure propagation where the
wavenumber depends on the frequency. For w <w,, k is
imaginary representing pure exponential decay.

Poynting’s theorem for this medium is

] 1 )
V-s+2 delE 2+ hulu D= -E 3= -3,
at (Dps ot
_ 91 IJfl“’)
- at(wzs 2 21

Because this system is lossless, the right-hand side of (21)
can be brought to the left-hand side and lumped with the
energy densities:

9 11
VoS4 bl Il HI TS 5] =0 @)
ot 2 wpe

This new energy term just represents the kinetic energy
density of the charge carriers since their velocity is related to
the current density as

1 1
Ji=anv>5 —- |3¢1% =3mn|v|® (23)
w,,e

7-4-5 Dispersive Media

When the wavenumber is not proportional to the
frequency of the wave, the medium is said to be dispersive. A
nonsinusoidal time signal (such as a square wave) will change
shape and become distorted as the wave propagates because
each Fourier component of the signal travels at a different
speed.

To be specific, consider 2 stationary current sheet source at
z =0 composed of two signals with slightly different frequen-
cies:

K(t) = Ko[cos (wo+ Aw)t + cos (wo— Aw)t]
= 2K, cos Awt cos wot (24)
With Aw « @ the fast oscillations at frequency wo are modu-
lated by the slow envelope function at frequency Aw. In a

linear dielectric medium this wave packet would propagate
away from the current sheet at the speed of light, ¢ = 1/Vep).




Sinusoidal Time Variations 513

If the medium is dispersive. with the wavenumber k(w) being
a function of w, each frequency component in (24) travels at a
slightly different speed. Since each frequency is very close to
wo we expand k(w) as

Koo+ Ao =kwo) + | 8w
dw wg

dk (25)
k(wo—Aw)= k(wo)—E'm Aw

where for propagation k(o) must be real.
The fields for waves propagating in the +z direction are
then of the following form:

E.(z,t)=Re I:fo(exp {j[(wo+ Aw)t - (k(wo) +%'m Aw)z]}

+exp {j[(wo— Aot — (k(wo) —%‘ Aw) z] })

=Re (fb exp {jlwot —k (“’0)1”{ exp [j A“’(‘ Tdw

)]
Rl

k
=2F cos (wot — k(wo)z) cos Aw(t —5;

k
+exp [—j Aw(t—diw-

wz) (26)

where without loss of generality we assume in the last relation
that Eo— E, is real. This result is plotted in Figure 7-10 as a
function of z for fixed time. The fast waves with argument

wot — k(wo)z travel at the phase speed v, = wo/k(wo) through
the modulating envelope with argument Aw(t—dk/dw).,z).
This envelope itself travels at the slow speed

d dw
t——| z =const=>—z= U=

dw lwg dt dk wo @7

known as the group velocity, for it is the velocity at which a
packet of waves within a narrow frequency band around w,
will travel.

For linear media the group and phase velocities are equal:

(28)
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Eqcos{wylt —3’;)] cos[Aw(t—-%)]

/ \ //
/
/ v\\= “o /
/ AN k(wg) //

> 2

/\\//L M
N ¥
/
/\\

Modulating
envelope cos [Aw(t — %)]

Figure 7-10 In a dispersive medium the shape of the waves becomes distorted so the
velocity of a wave is not uniquely defined. For a group of signals within a narrow
frequency band the modulating envelope travels at the group velocity v,. The signal
within the envelope propagates through at the phase velocity v,.

while from Section 7-4-4 in the high-frequency limit for
conductors, we see that

w2=k2c2+w§=>v,=%
29
Y (29)
C & w

where the velocities only make sense when & is real so that
@ > wy. Note that in this limit

Vgl = c? (30)

Group velocity only has meaning in a dispersive medium
when the signals of interest are clustered over a narrow
frequency range so that the slope defined by (27),is approxi-
mately constant and real.

7-4-6 Polarization

The two independent sets of solutions of Section 7-3-1 both
have their power flow § = EX H in the z direction. One solu-
tion is said to have its electric field polarized in the x direction
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while the second has its electric field polarized in the y direc-
tion. Each solution alone is said to be linearly polarized
because the electric field always points in the same direction
for all time. If both field solutions are present, the direction
of net electric field varies with time. In particular, let us say
that the ¥ and y components of electric field at any value of z
differ in phase by angle ¢:

E=Re[E,j,+E, e“’i,] ™= E,, cos oti, + E,, cos (wt + )i,

31
We can eliminate time as a parameter, realizing from (31) that
cos wt = EJE,
” (32)
sin wr = 28wt cos 6~ EJEy, _ (EJE,)cosé—EJE,
sin ¢ sin @

and using the identity that
sin® wt + cos® wt

—1= (&)2 LEJE)’ cos® ¢ + (B Ex)* ~ REEJEEy) cos ¢

E,, sin® ¢
(33)
to give us the equation of an ellipse relating E, to E;:
E.\2 E,,)2 2EE, .2
(=) =2 = 4
(E,o) (E,, EnE, 80 ~sn ¢ (34)

as plotted in Figure 7-11a. As time increases the electric field
vector traces out an ellipse each period so this general case of
the superposition of two linear polarizations with arbitrary
phase ¢ is known as elliptical polarization. There are two
important special cases:

(a) Linear Polarization

If E, and E, are in phase so that ¢ =0, (34) reduces to
E, E,,)2 E, E,
——-="}) =0>tanf=—=—=2
(Es., E,) ~0>@nl=g =g,
The electric field at all times is at a constant angle 8 to the x
axis. The electric field amplitude oscillates with time along
this line, as in Figure 7-115. Because its direction is always

along the same line, the electric field is linearly polarized.

(35)

(b) Circular Polarization
If both components have equal amplitudes but are 90° out
of phase,

E,=E,=E, ¢=xm2 (36)
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~
— g 10:
E=Egix +Eyofl iy,

—Eqo

E,

wt=m Gt=3,0<9<7

_E’ -
vo wt=%w,—% <¢<0

2E, E

E, ., E, 2 3 in2
(E:o_) + (E:fo_) ._ﬁ coso = sin‘¢ Elliptical polarization

Figure 7-11 (a) Two perpendicular field components with phase difference ¢ have the
tip of the net electric field vector tracing out an ellipse each period. (b) If both field
components are in phase, the ellipse reduces to a straight line. (¢) If the field
components have the same magnitude but are 90° out of phase, the ellipse becomes a
circle. The polarization is left circularly polarized to z-directed power flow if the electric
field rotates clockwise and is (d) right circularly polarized if it rotates counterclockwise.

(34) reduces to the equation of a circle:
EI+E;=E; (37

The tip of the electric field vector traces out a circle as time
evolves over a period, as in Figure 7-11c. For the upper (+)
sign for ¢ in (36), the electric field rotates clockwise while the
negative sign has the electric field rotating counterclockwise.
These cases are, respectively, called left and right circular
polarization for waves propagating in the +z direction as
found by placing the thumb of either hand in the direction of
power flow. The fingers on the left hand curl in the direction
of the rotating field for left circular polarization, while the
fingers of the right hand curl in the direction of the rotating
field for right circular polarization. Left and right circular
polarizations reverse for waves traveling in the —z direction.

7-4-7 Wave Propagation in Anisotropic Media

Many properties of plane waves have particular appli-
cations to optics. Because visible light has a wavelength on the
order of 500 nm, even a pencil beam of light 1 mm wide' is
2000 wavelengths wide and thus approximates a plane wave.
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7" y
Eyo [ wt=0,2r
E; = Eggcoswt
6 =tan" £y Ey = Eyg coswt
[ Exu
™3 E £y
=T 3 [}
wt=3,57 x
wt=m Linear polarization
)
E; = Egcoswt . E E. = Egcoswt
Ey E,:Eocos(wt+5) v E,=Euc05(wt—%)
wt=3x2 = —Egsinwt x = Eo sin wt
2 L.d wt =75
=+ -

wt=7

\ 2

Left circular polarization Right circular polarization

Figure 7-11

(c) @

(a) Polarizers

Light is produced by oscillating molecules whether in a
light bulb or by the sun. This natural light is usually
unpolarized as each molecule oscillates in time and direction
independent of its neighbors so that even though the power
flow may be in a single direction the electric field phase
changes randomly with time and the source is said to be
incoherent. Lasers, an acronym for “light amplification by
stimulated emission of radiation,” emits coherent light by
having all the oscillating molecules emit in time phase.

A polarizer will only pass those electric field components
aligned with the polarizer’s transmission axis so that the
transmitted light is linearly polarized. Polarizers are made of
such crystals as tourmaline, which exhibit dichroism—the
selective absorption of the polarization along a crystal axis.
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The polarization perpendicular to this axis is transmitted.

Because tourmaline polarizers are expensive, fragile, and
of small size, improved low cost and sturdy sheet polarizers
were developed by embedding long needlelike crystals or
chainlike molecules in a plastic sheet. The electric field
component in the long direction of the molecules or crystals is
strongly absorbed while the perpendicular component of the
electric field is passed.

For an electric field of magnitude E; at angle ¢ to the
transmission axis of a polarizer, the magnitude of the trans-
mitted field is

E,=Eycos ¢ (38)
so that the time-average power flux density is

<§ > =|iRe [E@) x A*(1)]]

2
= 1 £9 cos’ ¢ (39)
29

which is known as the law of Malus.

(b) Double Refraction (Birefringence)

If a second polarizer, now called the analyzer, is placed
parallel to the first but with its transmission axis at right
angles, as in Figure 7-12, no light is transmitted. The
combination is called a polariscope. However, if an anisotro-
pic crystal is inserted between the polarizer and analyzer,
light is transmitted through the analyzer. In these doubly
refracting crystals, light polarized along the optic axis travels
at speed ¢j while light polarized perpendicular to the axis
travels at a slightly different speed ¢,. The crystal is said to be
birefringent. If linearly polarized light is incident at 45° to the
axis,

E(z =0, t) = Eo(i, +i,) Re (¢™) (40)

the components of electric field along and perpendicular to
the axis travel at different speeds:

E.zt)=EoRe (™), ky=wlg 41

E,(z,t)=EoRe (¢! ™*?), k. =wlc. @D

After exiting the crystal at z =1, the total electric field is
E(z =1, t) = Eg Re [¢™'(e ™M, +e ™))

= EoRe [/ M0, + /400y (42)
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Crossed polarizer
{analyzer)

Incident field at z = 0\‘ o Transmission axis

N

\
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x g=1/
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polarized wave

Waves polarized along this
axis travel at speed ¢,

Linearly polarized electric
field oriented at 45° to
crystal axes.

Complex electric field vector rotates
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Doubly refracting
(birefringent} medium

0° . Waves polarized along this
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270° 90°
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180°
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Figure 7-12 When a linearly polarized wave passes through a doubly refracting
(birefringent) medium at an angle to the crystal axes, the transmitted light is elliptically
polarized.

which is of the form of (31) for an elliptically polarized wave
where the phase difference is

$ ==kl = ol ~-1) (43)
 C1
When ¢ is an integer multiple of 27, the light exiting the
crystal is the same as if the crystal were not there so that it is
not transmitted through the analyzer. If ¢ is an odd integer
multiple of m, the exiting light is also linearly polarized but
perpendicularly to the incident light so that it is polarized in
the same direction as the transmission axis of the analyzer,
and thus is transmitted. Such elements are called half-wave
plates at the frequency of operation. When ¢ is an odd
integer multiple of #/2, the exiting light is circularly
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polarized and the crystal serves as a quarter-wave plate.
However, only that polarization of light along the trans-
mission axis of the analyzer is transmitted.

Double refraction occurs naturally in many crystals due to
their anisotropic molecular structure, Many plastics and
glasses that are generally isotropic have induced birefrin-
gence when mechanically stressed. When placed within a
polariscope the photoelastic stress patterns can be seen. Some
liquids, notably nitrobenzene, also become birefringent when
stressed by large electric fields. This phenomena is called the
Kerr effect. Electro-optical measurements allow electric field
mapping in the dielectric between high voltage stressed elec-
trodes, useful in the study of high voltage conduction and
breakdown phenomena. The Kerr effect is also used as a light
switch in high-speed shutters. A parallel plate capacitor is
placed within a polariscope so that in the absence of voltage
no light is transmitted. When the voltage is increased the light
is transmitted, being a maximum when ¢ = 7. (See problem
17.)

7-5 NORMAL INCIDENCE ONTO A PERFECT CONDUCTOR

A uniform plane wave with x-directed electric field is
normally incident upon a perfectly conducting plane at z =0,
as shown in Figure 7-13. The presence of the boundary gives
rise to a reflected wave that propagates in the —z direction.
There are no fields within the perfect conductor. The known
incident fields traveling in the +z direction can be written as

E.‘ Jt =R E.‘ j(ml—kz)o:
(z,t) e(E;e ix) )

H;(z, t)=Re (E ¢ ("'""‘)i,)
No

while the reflected fields propagating in the ~z direction are

similarly
E.(z, ) =Re (E, e *™),)
H.(z, t)=Re (i e"‘“"*’“’i,) @)
nNo
where in the lossless free space
no="oleo,  k=wVeouo (3)

Note the minus sign difference in the spatial exponential
phase factors of (1) and (2) as the waves are traveling in
opposite directions. The amplitude of incident and reflected
magnetic fields are given by the ratio of electric field ampli-
tude to the wave impedance, as derived in Eq. (15) of Section
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Wi
€0, Ko (no = -% )

A .
E, = RelE, eitwt+hn)

2E,' £‘ j(wt+hz)
H, (3,¢) = n—o—- coskacos wt H, =Re(—L ¢ iy )
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E; jlwt—kz)
Hi = He(;o— e ly)

Figure 7-13 A uniform plane wave normally incident upon a perfect conductor has
zero electric field at the conducting surface thus requiring a reflected wave. The source
of this reflected wave is the surface current at z =0, which equals the magnetic field
there. The total electric and magnetic fields are 90° out of phase in time and space.

7-3-2. The negative sign in front of the reflected magnetic
field for the wave in the —z direction arises because the power
flow §,=E, XH, in the reflected wave must also be in the —z
direction.

The total electric and magnetic fields are just the sum of
the incident and reflected fields. The only unknown
parameter E, can be evaluated from the boundary condition
at z=0 where the tangential component of E must be
continuous and thus zero along the perfect conductor:

E+E =0>E =-F, 4)
The total fields are then the sum of the incident and reflected

fields
E,‘(Z, t) = Ei(zr t) +E'(Z, t)

=Re [Ei(e™™ —¢"™) ¢™']
= 2E; sin kz sin wt
H,(z t)=Hi(z, )+ H,(z t)

=Re (%(e_’h +e™™) e"‘"‘) ®)

2F;
=——cos kz cos wt
Mo
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where we take f.'.- =E; to be real. The electric and magnetic
fields are 90° out of phase with each other both in time and
space. We note that the two oppositely traveling wave solu-
tions combined for a standing wave solution. The total solu-
tion does not propagate but is a standing sinusoidal solution
in space whose amplitude varies sinusoidally in time.

A surface current flows on the perfect conductor at z=0
due to the discontinuity in tangential component of H,

K.=Hy(z=0)= 2—E' cos wi (6)

Mo
giving rise to a force per unit area on the conductor,
F=3KXuoH= %y.on (z=0){,= 2e0E? cos® wti, 7

known as the radiation pressure. The factor of % arises in (7)
because the force on a surface current is proportional to the
average value of magnetic field on each side of the interface,
here being zero for z =0,.

7.6 NORMAL INCIDENCE ONTO A DIELECTRIC
7-6-1 Lossless Dielectric

We replace the perfect conductor with a lossless dielectric
of permittivity €2 and permeability uo, as in Figure 7-14, with
a uniform plane wave normally incident from a medium with
permittivity £; and permeability u,. In addition to the
incident and reflected fields for z <0, there are transmitted
fields which propagate in the +z direction within the medium
for z>0:

Ei(z, t)=Re [E; /74, ], ki=wVeu, ]
H;(z, 1)=Re = R )i,], "= ,&
m & L <o
E.(z,t)=Re [E, efrthn 1
Hle h=Re L% ‘“Mﬂ"’i,] 1)
L m ‘
E/(z ty=Re[E ™ ,],  ky=owVesus w
rE, | " 250
T2 P

It is necessary in (1) to use the appropriate wavenumber
and impedance within each region. There is no wave travel-
ing in the —z direction in the second region as we assume no
boundaries or sources for z >0.
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[
€, min = o O =—1)

=/# =1
n €2, B2(m e ' ° —1—)

€242

E, = Retf; e/ “ M7 )

k, = ki, = ﬁ i,

2 . E; = RelE, e /t~42%) )
_ Ei Jwt—kq5)

H; = Re(__e i)

k! =k2ig ='§i'

= £ jot+k, 9. 4 i _
Er =RelE, ¢ %) He = Re(ok o/ 742"

H;= Re(——

A
Er jtwt+kyy)

e i
™ y

ky = —kii, =-% iz

7

Figure 7-14 A uniform plane wave normally incident upon a dielectric interface
separating two different materials has part of its power reflected and part transmitted.

The unknown quantities E, and E, can be found from the
boundary conditions of continuity of tangential E and H at

z=0,
i+ E, =E,
£, _E, @
m N2

from which we find the reflection R and transmission 7T field
coefficients as

R=%=:2;:l
£ omy @)
T=5=_""
E; metm
where from (2)
1+R=T @)

If both mediums have the same wave impedance, 7, = 73,
there is no reflected wave.




52 4 Electrodynamics—Fields and Waves

7-6-2 Time-Average Power Flow

The time-average power flow in the region z <0 is
<S8.>=%Re[E()H] ()]

1 A " s . .
= o Re [E;e ™+ E, e MM [EX ot — E* oM
™

1 . A
=5 UE|?~|E|*]
m

+2L Re [EE¥ ¢* WM — E*E, e_gj*"J]

m P (5)

The last term on the right-hand side of (5) is zero as it is the
difference between a number and its complex conjugate,
which is pure imaginary and equals 2j times its imaginary
part. Being pure imaginary, its real part is zero. Thus the
time-average power flow just equals the difference in the
power flows in the incident and reflected waves as found
more generally in Section 7-3-2. The coupling terms between
oppositely traveling waves have no time-average yielding the
simple superposition of time-average powers:

1 ~ A
<Su>=5 Il E?-|E %
m

E)?

ey ()
27

This net time-average power flows into the dielectric

medium, as it also equals the transmitted power;

1 . . E|?2T® |E)?
<S‘.>=—|E.|’=L.l—=u-[l—R’] )
272 272 2m

7-6-3 Lossy Dielectric
If medium 2 is lossy with Ohmic conductivity o, the solu-
tions of (3) are still correct if we replace the permittivity g5 by
the complex permittivity &9,
br=eo14-2) ®)
so that the wave impedance in region 2 is complex:

N2 =Vusl/és 9
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We can easily explore the effect of losses in the low and large
loss limits.

(a) Low Losses
If the Ohmic conductivity is small, we can neglect it in all
terms except in the wavenumber ks:

Iim kz*w\/ 82#2_10' ﬁg (10)
olwegk] 2 €2

The imaginary part of ko gives rise to a small rate of
exponential decay in medium 2 as the wave propagates away
from the z =0 boundary.

(b) Large Losses

For large conductivities so that the displacement current is
negligible in medium 2, the wavenumber and impedance in
region 2 are complex:

lim : , (11)
olwes®1 _ qu2 1 +]
Ne = V e
o od

The fields decay within a characteristic distance equal to the
skin depth 8. This is why communications to submerged
submarines are difficult. For seawater, wo=puo=
47 %1077 henry/m and o =4 siemens/m so that for 1 MHz
signals, 6 =0.25 m. However, at 100 Hz the skin depth
increases to 25 meters. If a submarine is within this distance
from the surface, it can receive the signals. However, it is
difficult to transmit these low frequencies because of the large
free space wavelength, A =3X 10°m. Note that as the
conductivity approaches infinity,

kg =00 R=-1
li 1
so that the field solution approaches that of normal incidence
upon a perfect conductor found in Section 7-5.

EXAMPLE 7-1 DIELECTRIC COATING

A thin lossless dielectric with permittivity £ and permeabil-
ity i is coated onto the interface between two infinite half-
spaces of lossless media with respective properties (£,, i1) and
(€2, t2), as shown in Figure 7-15. What coating parameters ¢
and p and thickness d will allow all the time-average power
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e tin =/t o =

1 Vi 1
) = [H2 =
1 Ny €2, u2(n2 22" ey !

k1 2 kz
H, y H;
Region 1 Region 2

0O 3 &
No reflections
ifdsl'}, n=136. ..
andn =v/7; 12 ,wherek=w3_ is

ep

measured within the coating

Figure 7-15 A suitable dielectric coating applied on the interface of discontinuity

between differing media can eliminate reflections at a given frequency,

from region 1 to be transmitted through the coating to region
2? Such coatings are applied to optical components such as
lenses to minimize unwanted reflections and to maximize the

transmitted light intensity.

SOLUTION

For all the incident power to be transmitted into region 2,
there can be no reflected field in region 1, although we do
have oppositely traveling waves in the coating due to the
reflection at the second interface. Region 2 only has positively
z-directed power flow. The fields in each region are thus of

the following form:
Region 1
E;=Re [El e“""‘""’i,], kh=wlci=w E1f41

)
H;=Re [—l e "“)i,], m=y=
m €
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Coating
E.=Re[E, ¢/ ™4,], k=wlc=wven
H.=Re [& ej(”'_"‘)i,], n= \/E
n £
E_=Re[E-“*™},]
E_ .
H_=Re [—7 e"‘"'“"i,]
Region 2

Es=Re[E; ™4, ko=w/co=wVeops
M2 €2
Continuity of tangential E and H at z =0 and z = d requires
£ E-E
T - n
L E et = Ey e

—jkd A +jkd  p —jhed
M_E_et™ Fre™™

E‘l =E‘++EA‘—9

E+e
E.e

n N2
Each of these amplitudes in terms of E 1 is then

A 1 A
E+=§(l +1)E[

T
A 1 1, A
E-=—(1——)E
2 ™ !

Eo= ej"’d[E‘+ e ™My E_ e+’“]

=1 ej"“’[EA+ e™M_F_ P
Solving this last relation self-consistently requires that
E. e_’u(l —-12) +E_ e’“(l +2) =0
n n
Writing E, and E_ in terms of E 1 yields

(1+2) - (152)(1-2) -
T n n m

Since this relation is complex, the real and imaginary parts
must separately be satisfied. For the imaginary part to be zero
requires that the coating thickness 4 be an integral number of
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quarter wavelengths as measured within the coating,

2kd =nmr>d =nA/4, n=12173,..

The real part then requires

(a)0-3) =0+ )02 =l o

For the upper sign where d is a multiple of half-wavelengths
the only solution is

ne=m (d=nA/4, n=2,4,6,..)

which requires that media 1 and 2 be the same so that the
coating serves no purpose. If regions 1 and 2 have differing
wave impedances, we must use the lower sign where d is an
odd integer number of quarter wavelengths so that

P =mmeDdn=Vnne (d=nr/4, n=1,3,5,.)

Thus, if the coating is a quarter wavelength thick as measured
within the coating, or any odd integer multiple of this thick-
ness with its wave impedance equal to the geometrical average
of the impedances in each adjacent region, all the time-
average power flow in region 1 passes through the coating
into region 2:

. n . ok +;h Pk —ike
=3Re [(E+ e ™k e"'"“)(E —E-e )]
n
— (B~ £%
27

Note that for a given coating thickness 4, there is no reflection
only at select frequencies corresponding to wavelengths d =
nA/4, n=1,3,5,.... For a narrow band of wavelengths
about these select wavelengths, reflections are small. The
magnetic permeability of coatings and of the glass used in
optical components are usually that of free space while the
permittivities differ. The permittivity of the coating ¢ is then
picked so that

€ =VEgE

and with a thickness corresponding to the central range of the
wavelengths of interest (often in the visible).
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7-7 UNIFORM AND NONUNIFORM PLANE WAVES

Our analysis thus far has been limited to waves propagating
in the z direction normally incident upon plane interfaces.
Although our examples had the electric field polarized in the
x direction, the solution procedure is the same for the y-

“directed electric field polarization as both polarizations are

parallel to the interfaces of discontinuity.

7-7-1 Propagation at an Arbitrary Angle

E = RelEe

A jlwt—k2) )

We now consider a uniform plane wave with power flow at
an angle @ to the z axis, as shown in Figure 7-16. The electric
field is assumed to be y directed, but the magnetic field that is
perpendicular to both E and § now has components in the x
and z directions.

The direction of the power flow, which we can call z’, is
related to the Cartesian coordinates as

'=xsin 8+z cos 8 1
so that the phase factor kz’ can be written as

k2' = hx + k2, k,=ksin@

2
k.=kcos @ @)
where the wavenumber magnitude is
k= w\/; (3)

L.

2’ = xsind + zcos 8

=9c {cos@i+sinfi,])

)

y

E flwt—ke’)
H= Re(% [—cos8i , + sinfi, le ' 1

Figure 7-16 The spatial dependence of a uniform plane wave at an arbitrary angle 4
can be expressed in terms of a vector wavenumber k as e ™", where k is in the direction
of power flow and has magnitude w/c.
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This allows us to write the fields as

E=Re[E k)

£ 4)
H=Re [—(~cos 9i, +sin 0i,) e’(""—""_"“)]
n

We note tlll‘at the spatial dependence of the fields can be
writtenas e ', where the wavenumber is treated as a vector:

k= ki, + ki, +k.i, (5)
with
r=xi, +yi, +zi, (6)
so that
ker=kx+ky+kz 0))

The magnitude of k is as given in (3) and its direction is the
same as the power flow §:

A2
S=EXH=|E (cos 83, +sin 8i,) cos® (wt—k * 1)
n
E|’k
= | cos® (wt—k-r) (8)
wp

where without loss of generality we picked the phase of Eto
be zero so that it is real.

7-7-2 The Complex Propagation Constant

Let us generalize further by considering fields of the form
E=Re[Ee™ e "|=Re[E %",
H=Re[He™ ¢ ¥ "|=Re[H /"¢

where v is the complex propagation vector and r is the posi-
tion vector of (6):

9)

y=oa+jk=y,i, +yi, +y.i, (10)
Y r=yX+yy+ v

We have previously considered uniform plane waves in
lossless media where the wavenumber k is pure real and z
directed with =0 so that y is pure imaginary. The
parameter a represents the decay rate of the fields even
though the medium is lossless. If & is nonzero, the solutions
are called nonuniform plane waves. We saw this decay in our
quasi-static solutions of Laplace’s equation where solutions
had oscillations in one direction but decay in the perpendic-
ular direction. We would expect this evanescence to remain at

low frequencies.
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The value of the assumed form of solutions in (9) is that the
del (V) operator in Maxwell’s equations can be replaced by the
vector operator —y:

d a 2
V=i, +—i, +—i,
ax ay a9z
= —%:ds — Vi, — e

=—y (11)

This is true because any spatial derivatives only operate on
the exponential term in (9). Then the source free Maxwell’s
equations can be written in terms of the complex amplitudes
as

—-yxﬁ=—jwuﬁ
—yxH = jwek
v (12)
—y-eE=0
_7.“1‘31:0

The last two relations tell us that vy is perpendicular to both
E and H. If we take ¥y Xthe top equation and use the second
equation, we have

—y X(y X E) = —jwp (y X H) = —jwu (—jwe E)
=-w’uek (18)

The double cross product can be expanded as
~yX(yxE)=—y(y - E)+ (v - n)E
=@ YE=~w’uek (14)

The vy - E term is zero from the third relation in (12). The
dispersion relation is then

yoy=(a®—k2+2a k) =—wue (15)

For solution, the real and imaginary parts of (15) must be
separately equal:

2,2 )
a’ ~-k"=—-w ue

a‘k=0 (16)

When a=0, (16) reduces to the familiar frequency-
wavenumber relation of Section 7-3 4.

The last relation now tells us that evanescence (decay) in

space as represented by a is allowed by Maxwell's equations,

but must be perpendicular to propagation represented by k.
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We can compute the time-average power flow for fields of
the form of (9) using (12) in terms of either E or H as follows:

<S>=4Re (ExH*),
. x E*
— _% Re ( (v* )) i
jou
v E|* - E*(y* - ﬁ))
jou '

=—%Re(

ﬁ*(,'y* f‘l)) '

Jop

k A
=§EIE'2+%RC(

. a7
<$>=4%Re (ExH¥)
= _% Re ((.Y_XEX ﬁ*)
JWE
e (A Hy- A1
€

jwe

N=—

o Brk
SLE ey (BB

2 we jwe
Although both final expressions in (17) are equivalent, it is
convenient to write the power flow in terms of either EorH.
When E is perpendicular to both the real vectors « and B,
defined in (10) and (16), the dot product y* - E is zero. Such a
mode is called transverse electric (TE), and we see in (17) that
the time-average power flow is still in the direction of the
wavenumber k. Similarly, when H is perpendicular to a and
B, the dot product y - H* is zero and we have a transverse
magnetic (TM) mode. Again, the time-average power flow in
(17) is in the direction of k. The magnitude of k is related to @
in (16).

Note that our discussion has been limited to lossless
systems. We can include Ohmic losses if we replace £ by the
complex permittivity £ of Section 7-4-3 in (15) and (17).
Then, there is always decay (a # 0) because of Ohmic dis-
sipation (see Problem 22).

7-7-3 Nonuniform Plane Waves
We can examine nonuniform plane wave solutions with
nonzero @ by considering a current sheet in the z =0 plane,

which is a traveling wave in the x direction:

K.(z=0)= Ko cos (wt —kx)=Re (Ko £/ ™%")  (18)
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The x-directed surface current gives rise to a y-directed
magnetic field. Because the system does not depend on the y
coordinate, solutions are thus of the following form:

H={Re(ﬁ1 e, >0
" |Re(Hge™ ™), 2<0
leﬁl. joot  —y, (19)
Re[—.—l,e’“’ e '], 2>0
E= jwe
Re[—%:—{-gi,e"”'e""*"], z2<0

where v, and 2 are the complex propagation vectors on each
side of the current sheet:

‘Yl = ylxix + ylziz
Y2 = Yoxis + Yo:i.

The boundary condition of the discontinuity of tangential H
at z = 0 equaling the surface current yields

—H e "F+Hye " = Koo ™ (21)

(20)

which tells us that the x components of the complex prop-
agation vectors equal the trigonometric spatial dependence of
the surface current:

Yix = Yax =]k: (22)

The z components of y; and v, are then determined from (15)
as

‘yf + 73 = —w2g'u, >y =% (kz —(028#)”2 (23)

If k2 <w®eu, v, is pure imaginary representing propagation
and we have uniform plane waves. If kZ>w?cu, then v, is
pure real representing evanescence in the z direction so that
we generate nonuniform plane waves. When w =0, (23) cor-
responds to Laplacian solutions that oscillate in the x direc-
tion but decay in the z direction.

The z component of vy is of opposite sign in each region,

Y1 =—ya. = +(k2 —w’ep)"? (24)

as the waves propagate or decay away from the sheet.
Continuity of the tangential component of E requires

711ﬁ1=‘72zﬁ2$ﬁ2=—ﬁ1=K0/2 (25)

If k.=0, we re-obtain the solution of Section 7-4-1.
Increasing k, generates propagating waves with power flow in
the k.i, + k,i, directions. At k2 = w®ep, k, = 0 so that the power
flow is purely x directed with no spatial dependence on z.
Further increasing k. converts &, to a, as v, becomes real and
the fields decay with z.
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7-8 OBLIQUE INCIDENCE ONTO A PERFECT CONDUCTOR
7-8-1 E Field Parallel to the Interface

In Figure 7-17a we show a uniform plane wave incident
upon a perfect conductor with power flow at an angle ; to
the normal. The electric field is parallel to the surface with
the magnetic field having both x and z components:

Ei =Re E.' ti(w‘_k"i‘_k“'l)i
[ y] )

E; , ot e
H; =Re [?(—cos 0:i, +sin 6;i,) '@ ™M """)]

where

k,,,'=k sinﬂ.-} _ _JE
k; =k cos 6; k_w\/;’ T=V% (2)

Sz

(b)

Figure 7-17 A uniform plane wave obliquely incident upon a perfect conductor has its
angle of incidence equal to the angle of reflection. (a) Electric field polarized parallel to
the interface. (b) Magnetic field parallel to the interface.
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There are no transmitted fields within the perfect conductor,
but there is a reflected field with power flow at angle 6, from
the interface normal. The reflected electric field is also in the
y direction so the magnetic field, which must be perpendic-
ular to both E and S=EXH, is in the direction shown in
Figure 7-17a:

E, =Re [E, /b4

2 )
H,=Re [E(cos 0.i, +sin 6,i,) ei(“-k.aﬂ"n]
n

where the reflected wavenumbers are

er=k Sin or
4)
k.=k cos 0,

At this point we do not know the angle of reflection 6, or
the reflected amplitude E,. They will be determined from the
boundary conditions at z = 0 of continuity of tangential E and
normal B. Because there are no fields within the perfect
conductor these boundary conditions at z =0 are

Ei l_ik"i’ + E‘, t_ik"x =0 (5)
%(f; sin 8; ¢ ™ + E, sin 8,¢ ™) =0

These conditions must be true for every value of x alongz =0
so that the phase factors given in (2) and (4) must be equal,
hi=h,>0,=06,=0 (6)

giving the well-known rule that the angle of incidence equals the
angle of reflection. The reflected field amplitude is then

E, = —Ei (7)

with the boundary conditions in (5) being redundant as they
both yield (7). The total fields are then:

E,=Re [Ei(e™™F — gty g1t~k
= 2F, sin k,z sin (wt — k.x)
H=Re [%[cos O(—e ™ — ¥ ™)i, +sin O(e 7™

_ e-o-;'klz )i;] ei(ut—k_:)]

= 2{5 [—cos @ cos k,z cos (wt — kx)i,

8

+sin @ sin k.z sin (wt —k.x)i,]

where without loss of generality we take E; to be real.
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We drop the i and r subscripts on the wavenumbers and
angles because they are equal. The fields travel in the x
direction parallel to the interface, but are stationary in the z
direction. Note that another perfectly conducting plane can
be placed at distances d to the left of the interface at

kd=nw 9

where the electric field is already zero without disturbing the
solutions of (8). The boundary conditions at the second
conductor are automatically satisfied. Such a structure is called
a waveguide and is discussed in Section 8-6.

Because the tangential component of H is discontinuous at
z =0, a traveling wave surface current flows along the inter-
face,

K,=—H,(z=0)=g1?c050cos (wt —k,x) (10)

From (8) we compute the time-average power flow as

<8>=3%Re[E(x, z) x H*(x, 2)]
2
=-2n£sin 0 sin” k.zi, (11)

We see that the only nonzero power flow is in the direction
parallel to the interfacial boundary and it varies as a function
of z.

7-8-2 H Field Parallel to the Interface

If the H field is parallel to the conducting boundary, as in
Figure 7-17b, the incident and reflected fields are as follows:

E; = Re [E; (cos 6;i, —sin 8;i,) ¢’ %kt

E,' sy _
H;=Re [—e’("" b "“"’i,]
(12)

E, =Re [E, (—cos 8,i, —sin 0,i,) ' *=*h)]
)
n
The tangential component of E is continuous and thus zero
atz=0:

Ei;cos 0,e™*—E cos@,e ™ =0 (13)

There is no normai component of B. This boundary condi-
tion must be satisfied for all values of x so again the angle of
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incidence must equal the angle of reflection (8; = 8,) so that
E,=E, (14)

The total E and H fields can be obtained from (12) by adding
the incident and reflected fields and taking the real part;

E =Re {E; [cos 8(e ™™ —¢*™)i,
—sin (e ™M + ¢t M), ] M)
= 2FE;{cos 8 sin k.z sin (wt — kx)i, (15)
—sin 0 cos k,z cos (wt — kx)i,}

A

Ei —j +ji jlawt—
H=Re [___(e h,z +e ;hlz) ey(w! k.:)i’]
n
2E;
= —n- cos k,z cos (wt — kx)i,

The surface current on the conducting surface at z=0 is
given by the tangential component of H

Kz(z=o)=1—1,(z=0)=g§cos (wt —kx) (16)

while the surface charge at z = 0 is proportional to the normal
component of electric field,

o(z=0)=—¢eE, (2 =0)=2¢eE; sin 8 cos (wt —kx) (17)

Note that (16) and (17) satisfy conservation of current on the
conducting surface,

9 K.
Vs K+ 028 001
ox at

3 0 (18)

where

é é
Vz = _i,, +_‘i,
ox oy

is the surface divergence operator. The time-average power
flow for this polarization is also x directed:

<8§>=1%Re (ExHA*)
E?
= 2—_”— sin 0 cos® kzi, 19)
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7-9 OBLIQUE INCIDENCE ONTO A DIELECTRIC
7-9-1 E Parallel to the Interface

A plane wave incident upon a dielectric interface, as in
Figure 7-18a, now has transmitted fields as well as reflected
fields. For the electric field polarized parallel to the interface,
the fields in each region can be expressed as

E;=Re [E. ej(m—h":—h"z)i,]
Ei . . . (wt—k_x—k 1)
H;=Re ;—(-—cos 8;i, +sin 8;i;) e el
1
E,=Re [E, /™ k4
' . 1)
H,=Re [E (cos 8,i, +sin 8,i,) '@ h* “‘"’]
m
E.=Re[E, ¢/ kg )
E: . . . f(ot—k_x—k_1r)
H, =Re | —(—cos Q:i, +sin ;i) e et
n2
where 8, 8,, and 6, are the angles from the normal of the
incident, reflected, and transmitted power flows. The

wavenumbers in each region are

kg.' = k] sin 0,‘, k" = kl sin 07, k;g = kg sin 0; (2)
k,; =k, cos 6, k., =k, cos 6,, k. = ks cos 8,

where the wavenumber magnitudes, wave speeds, and wave
impedances are

k=2 ke=2 a= !
1 c]: 2 62, 1 \/a‘—l (3)
“ Me 1
m=y\y—, N2=V > 2=
€2 ? veops

The unknown angles and amplitudes in (1) are found from
the boundary conditions of continuity of tangential E and H
at the z =0 interface.

N e oA .
Eie ™ E oM < £, g7

. e oA . . »
—E; cos ;¢ ™* + E, cos 0, ¢ """‘_ E, cos 6, ¢

m N2

@

These boundary conditions must be satisfied point by point
for all x. This requires that the exponential factors also be
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€, M €2, Hp

VE2p2

.
(a)
€2, 42
1
Cz =
V€202
S 2
0; = 0,
. c .
sing;, = _Ez_ sin 0,

(b)

Figure 7-18 A uniform plane wave obliquely incident upon a dielectric interface also
has its angle of incidence equal to the angle of reflection while the transmitted angle is
given by Snell’s law. (a) Electric field polarized parallel to the interface. (b)) Magnetic
field parallel to the interface.

equal so that the x components of all wavenumbers must be
equal,

R =k =k, >k, sin 8; =k, sin 8, = ks sin 8, %)

which relates the angles as

0.— = 0,' (6)

sin 0, = (co/c,) sin 6; @))]
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As before, the angle of incidence equals the angle of
reflection. The transmission angle obeys a more complicated
relation called Snell’s law relating the sines of the angles. The
angle from the normal is largest in that region which has the
faster speed of electromagnetic waves.

In optics, the ratio of the speed of light in vacuum, co=
1/J/Eeopo, to the speed of light in the medium is defined as the
index of refraction,

ny=colc,,  mge=colce (8)
which is never less than unity, Then Snell’s law is written as
sin 8, = (ny/n39) sin 6; 9)

With the angles related as in (6), the reflected and transmitted
field amplitudes can be expressed in the same way as for
normal incidence (see Section 7-6-1) if we replace the wave
impedances by n - n/cos 8 to yield

. M2 M
R_Er_cos 0, cos® mgcosb;—mn cosé,
E, 1 M TM2cos 0; + 7, cos 6,
cos 6, cos 8;
p (10)
T= E, _ 2n9 _ 2m9 cos 6;

: coso.( s +——

Ul )_ﬂecosaﬁ'mcoso,
cos 8, cos §;

In (4) we did not consider the boundary condition of
continuity of normal B at z =0. This boundary condition is
redundant as it is the same condition as the upper equation in
4):

51:—‘(& +E.)sin 6, =$E. sin6>EA+E)=E (1)
1 2

where we use the relation between angles in (6). Since

K1 1 Mo 1

—=EvNmea =, T =NpgEe=— (12)

m c1 N2 C2
the trigonometric terms in (11) cancel due to Snell’s law.
There is no normal component of D so it is automatically
continuous across the interface.

7-9-2 Brewster’s Angle of No Reflection

We see from (10) that at a certain angle of incidence, there
is no reflected field as R =0. This angle is called Brewster’s
angle:

R=0=>7n5co0s 8; =1, cos 6 (13)
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By squaring (13), replacing the cosine terms with sine terms
(cos® 8 = 1 —sin® @), and using Snell's law of (6), the Brewster
angle 6 is found as

1 —eqp1/(e1102)

s 2
sin” 05 =
® 1—(u1/me)?

(14)
There is not always a real solution to (14) as it depends on the
material constants. The common dielectric case, where u, =
e =pu but &; # &2, does not have a solution as the right-hand
side of (14) becomes infinite. Real solutions to (14) require the
right-hand side to be between zero and one. A Brewster’s
angle does exist for the uncommon situation where g, =¢9

and u; # pe:
1
sin? 0 = —————>tan 6 = \/ =2 (15)
1+p1/pz T

At this Brewster’s angle, the reflected and transmitted power
flows are at right angles (85 + 8, = 7/2) as can be seen by using
(6), (13), and (14):

cos (0p + 8,) = cos 0g cos 8, —sin 05 sin 6,

= cos> 6z \’E-—sin2 0z \/&
Hi H2

=\/ﬁ—sin203(\/ﬂ+\/-“—2)=o (16)
M K2 K1

7-9-8 Critical Angle of Transmission

Snell’s law in (6) shows us that if c;>c), large angles of
incident angle 6; could result in sin §, being greater than
unity. There is no real angle 6, that satisfies this condition.
The critical incident angle 8, is defined as that value of 6; that
makes 6, = 7/2,

sin 8, =cy/co (17)

which has a real solution only if ¢; <cy. At the critical angle,
the wavenumber &, is zero. Lesser incident angles have real
values of k. For larger incident angles there is no real angle 6,
that satisfies (6). Snell’s law must always be obeyed in order to
satisfy the boundary conditions at z=0 for all x. What
happens is that 8, becomes a complex number that satisfies
(6). Although sin 6, is still real, cos , is imaginary when sin 6,
exceeds unity:

c050.=~/l—sinE 6, (18)
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This then makes k,, imaginary, which we can write as
k. = ko cOs 8, = —ja (19)

The negative sign of the square root is taken so that waves
now decay with z:

E. =Re[E e/ ™% 74
£ (20)
H, =Re [—i(—cos B,ix +sin 8,i,) '@ h® e_‘"]
N2
The solutions are now nonuniform plane waves, as discussed
in Section 7-7.

Complex angles of transmission are a valid mathematical
concept. What has happened is that in (1) we wrote our
assumed solutions for the transmitted fields in terms of pure
propagating waves. Maxwell’s equations for an incident angle
greater than the critical angle require spatially decaying
waves with z in region 2 so that the mathematics forced &, to
be imaginary.

There is no power dissipation since the z-directed time-
average power flow is zero,

<§,>=—3Re[E,H¥]
EE} 2
=—%Re[ —(—cos 8)* e~* ]=o (1)
L]

because cos 6, is pure imaginary so that the bracketed term in
(21) is pure imaginary. The incident z-directed time-average
power is totally reflected. Even though the time-averaged
z-directed transmitted power is zero, there are nonzero but
exponentially decaying fields in region 2.

7-9-4 H Field Parallel to the Boundary

For this polarization, illustrated in Figure 7-18b, the fields
are

E; = Re [E; (cos 8ii, —sin 8;i,) ¢’ 5=k

H;=Re [£ e @R ]
m ?
E, =Re [E, (—cos 8,i, —sin ,i,) ¢/ 5+h)] @2
H,=Re [E ei(m-k..zﬂ.;)i,]
™

E. = Re [E, (cos 8,i, —sin 8,i,) '@ 5]

H,=Re [5 ei‘""""’""-"’i,]
N2
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where the wavenumbers and impedances are the same as in
(2) and (3).
Continuity of tangential E and H at z = 0 requires
E; cos ;e ™ —E, cos 0, ¢ ™ = E, cos 6, ¢ "~
Eie ™+ B e B o

m N2

(23)

Again the phase factors must be equal so that (5) and (6) are
again true. Snell’s law and the angle of incidence equalling
the angle of reflection are independent of polarization.

We solve (23) for the field reflection and transmission
coefficients as

E, 71 €cos 8; — m3 cos 6,

R=—== 4
; M2c086,+m; cos b (24)

E ;
r<kE_ 272 cos 8 25)

E; h n2 cos 6, + 1, cos 6;

Now we note that the boundary condition of continuity of
normal D at z =0 is redundant to the lower relation in (23),

slfl sin 8, +elf, sin §, = ezf, sin 6, (26)

using Snell’s law to relate the angles.
For this polarization the condition for no reflected waves is

R =013 cos 8, =1, cos 6; 27

which from Snell’s law gives the Brewster angle:

1 —epo/(eapt1)

. 2
s 0p =
BT T ey

(28)

There is now a solution for the usual case where u, = us but
(3] # E9:

S U _ e
sin 03—1+el/e2=>tan03— o (29)

At this Brewster’s angle the reflected and transmitted power
flows are at right angles (85 + 6,) = 7/2 as can be seen by using
(6), (27), and (29)

cos (0p + 8,) = cos 0 cos 6, —sin 85 sin 6,

= cos® Og \/E— sin” 0g \/E
€ E2

= \/E—sin2 o,(\/§+ \/5—3) =0 (30)
-3 E9 €1
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Because Snell's law is independent of polarization, the
critical angle of (17) is the same for both polarizations. Note
that the Brewster’s angle for either polarization, if it exists, is
always less than the critical angle of (17), as can be particularly
seen when u; = u, for the magnetic field polarized parallel to
the interface or when &, =¢e5 for the electric field polarized
parallel to the interface, as then

1 1

3D

sin® 05 sin> 6,

7-10 APPLICATIONS TO OPTICS

Reflection and refraction of electromagnetic waves
obliquely incident upon the interface between dissimilar
linear lossless media are governed by the two rules illustrated
in Figure 7-19:

(i) The angle of incidence equals the angle of reflection.

(ii) Waves incident from a medium of high light velocity
(low index of refraction) to one of low velocity (high
index of refraction) are bent towards the normal. If the
wave is incident from a low velocity (high index) to high
velocity (low index) medium, the light is bent away from
the normal. The incident and refracted angles are
related by Snell’s law.

S, H,
E. €2, M2
r _ [€k2
"2 =V oo
€.,
" = €114
! €oHo E S
0,- = oi P 3
t YH, -
8 sing, = -%sino,-
{Snell’s law)
S;
H;

Figure 7-19 A summary of reflection and refraction phenomena across the interface
separating two linear media. When 6; = 85 (Brewster’s angle), there is no reflected ray.
When §, > 8, (critical angle), the transmitted fields decay with z.
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Most optical materials, like glass, have a permeability of
free space wpo. Therefore, a Brewster’s angle of no reflection
only exists if the H field is parallel to the boundary.

At the critical angle, which can only exist if light travels
from a high index of refraction material (low light velocity) to
one of low index (high light velocity), there is a transmitted
field that decays with distance as a nonuniform plane wave.
However, there is no time-average power carried by this
evanescent wave so that all the time-average power is
reflected. This section briefly describes various applications of
these special angles and the rules governing reflection and
refraction.

7-10-1 Reflections from a Mirror

A person has their eyes at height 4 above their feet and a
height A4 below the top of their head, as in Figure 7-20. A
mirror in front extends a distance Ay above the eyes and a
distance y below. How large must y and Ay be so that the
person sees their entire image? The light reflected off the
person into the mirror must be reflected again into the
person’s eyes. Since the angle of incidence equals the angle of
reflection, Figure 7-20 shows that Ay = Ak/2 and y = h/2.

7-10-2 Lateral Displacement of a Light Ray
A light ray is incident from free space upon a transparent

medium with index of refraction n at angle 6;, as shown in
Figure 7-21. The angle of the transmitted light is given by

Snell’s law:
sin 8, = (1/n) sin 8; (1)
Ak
Ay = 3
S~ 3 ! 2%
~ b
P Mirror
L
- ’/
T

Figure 7-20 Because the angle of incidence equals the angle of reflection, a person can
see their entire image if the mirror extends half the distance of extent above and below
the eyes.
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_ dsin{6;—6,)
cos s

<d>

Figure 7-21 A light ray incident upon a glass plate exits the plate into the original
medium parallel to its original trajectory but laterally displaced.

When this light hits the second interface, the angle 8, is now
the incident angle so that the transmitted angle 8, is again
given by Snell’s law:

sin 8, = n sin 6, =sin 6; (2)

so that the light exits at the original incident angle #6;.
However, it is now shifted by the amount:

d sin (6; — 6,)
=— 3
s cos 6, (3)
If the plate is glass with refractive index n = 1.5 and thickness
d = 1 mm with incident angle §; = 30°, the angle 8, in the glass
is
sin §,=0.33=>0,=19.5° 4)

so that the lateral displacement is s = 0.19 mm.

7-10-3 Polarization By Reflection

Unpolarized light is incident upon the piece of glass in
Section 7-10-2 with index of refraction n = 1.5. Unpolarized
light has both E and H parallel to the interface. We assume
that the permeability of the glass equals that of free space and
that the light is incident at the Brewster’s angle 85 for light
polarized with H parallel to the interface. The incident and
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transmitted angles are then
tan 03 = V€/€0=n$03 =56.3°
tan 6, = \/eo/e =1/n>8,=33.7°

The Brewster’'s angle is also called the polarizing angle
because it can be used to separate the two orthogonal
polarizations. The polarization, whose H field is parallel to
the interface, is entirely transmitted at the first interface with
no reflection. The other polarization with electric field
parallel to the interface is partially transmitted and reflected.
At the second (glass-free space) interface the light is incident
at angle 6, From (5) we see that this angle is the Brewster’s
angle with H parallel to the interface for light incident from
the glass side onto the glass-free space interface. Then again,
the H parallel to the interface polarization is entirely trans-
mitted while the E parallel to the interface polarization is
partially reflected and partially transmitted. Thus, the
reflected wave is entirely polarized with electric field parallel
to the interface. The transmitted waves, although composed
of both polarizations, have the larger amplitude with H

N

(5)

S H
@E

Polarized light x Partially polarized
(E parallel to interface) L {mostly H parallet
\\ \\\\ to the interface)

\\\\\ "

N\ \\

\
\
bp
Unpolarized
light

(E and H parallel
to interface)}

Figure 7-22 Unpolarized light incident upon glass with & = u, can be polarized by
reflection if it is incident at the Brewster’s angle for the polarization with H parallel to
the interface. The transmitted light becomes more polarized with H parallel to the
interface by adding more parallel glass plates.
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parallel to the interface because it was entirely transmitted
with no reflection at both interfaces.

By passing the transmitted light through another parallel
piece of glass, the polarization with electric field parallel to
the interface becomes further diminished because it is par-
tially reflected, while the other polarization is completely
transmitted. With more glass elements, as in Figure 7-22, the
transmitted light can be made essentially completely
polarized with H field parallel to the interface.

7-10-4 Light Propagation In Water

(a) Submerged Source

A light source is a distance d below the surface of water
with refractive index n =1.33, as in Figure 7-23. The rays
emanate from the source as a cone. Those rays at an angle
from the normal greater than the critical angle,

sinf,=1/n>0.=48.8° 6)

are not transmitted into the air but undergo total internal
reflection. A circle of light with diameter

D=2d tan 6, =~2.28d )

then forms on the water’s surface due to the exiting light.

(b) Fish Below a Boat

A fish swims below a circular boat of diameter D, as in
Figure 7-24. As we try to view the fish from the air above, the
incident light ray is bent towards the normal. The region
below the boat that we view from above is demarcated by the
light rays at grazing incidence to the surface (8; = #/2) just
entering the water (n =1.33) at the sides of the boat. The
transmitted angle of these light rays is given from Snell’s law

as

ing, 1 .
sin ,="—'=—=>6,=48.8 (8)
n n

Figure 7-23 Light rays emanating from a source within a high index of refraction
medium are totally internally reflected from the surface for angles greater than the
critical angle. Lesser angles of incidence are transmitted.
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Figure 7-24 A fish cannot be seen from above if it swims below a circular boat within
the cone bounded by light rays at grazing incidence entering the water at the side of the
boat.

These rays from all sides of the boat intersect at the point a
distance y below the boat, where

D D
tan §, = — =——=0.44D 9
an Qy:>y 2 tan 4, ©)

If the fish swims within the cone, with vertex at the point y
below the boat, it cannot be viewed from above.
7-10-5 Totally Reflecting Prisms

The glass isoceles right triangle in Figure 7-25 has an index
of refraction of n=1.5 so that the critical angle for total

<S> 2
<s; >

%12

Figure 7-25 A totally reflecting prism. The index of refraction n must exceed V2 so
that the light incident on the hypotenuse at 45° exceeds the critical angle.
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internal reflection is

1 1
sinf,=—=—>>0.=41.8° (10)
n 15

. The light is normally incident on the vertical face of the

prism. The transmission coefficient is then given in Section
7-6-1 as

rob_ 2 _ 2m 2 _
'"E m4me 1+1ln n+l

0.8 (11)

where because the permeability of the prism equals that of
free space n =Veg/gg while n/ny= v go/e = 1/n. The transmitted
light is then incident upon the hypotenuse of the prism at an
angle of 45°, which exceeds the critical angle so that no power
is transmitted and the light is totally reflected being turned
through a right angle. The light is then normally incident
upon the horizontal face with transmission coefficient:

E2 21’]0 2 2n
T= =~ = = = =l.
*708E; m+mo lin+l n+l 2 (12)

The resulting electric field amplitude is then

Ey=T\T:E: =0.96F, (13)
The ratio of transmitted to incident power density is
<> _Whdme _E47 20y
<S> 3El|*mo |EI*

95 =0.92 (14)

This ratio can be increased to unity by applying a quarter-
wavelength-thick dielectric coating with index of refraction
Neoating = V1, as developed in Example 7-1. This is not usually
done because the ratio in (14) is already large without the
expense of a coating.

7-10-6 Fiber Optics

(a) Straight Light Pipe

Long *hin fibers of transparent material can guide light
along a straight path if the light within the pipe is incident
upon the wall at an angle greater than the critical angle
(sin 6. =1/n):

sin @3 = cos 6, =sin 6, (15)

The light rays are then totally internally reflected being
confined to the pipe until they exit, as in Figure 7-26. The
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Figure 7-26 The index of refraction of a straight light pipe must be greater than V2 for
total internal reflections of incident light at any angle.

incident angle is related to the transmitted angle from Snell’s
law,

sin 8, = (1/n) sin 6; (16)
so that (15) becomes
cos 8, =V1—sin” ,=Y1—(1/n}sin" 6;=1/n (17

which when solved for n yields
n%=1+sin?6; (18)

If this condition is met for grazing incidence (8; = #/2), all
incident light will be passed by the pipe, which requires that

n?=92>n=v2 (19)

Most types of glass have n = 1.5 so that this condition is easily
met.

(b) Bent Fibers

Light can also be guided along a tortuous path if the fiber is
bent, as in the semi-circular pipe shown in Figure 7-27. The
minimum angle to the radial normal for the incident light
shown is at the point A. This angle in terms of the radius of
the bend and the light pipe width must exceed the critical angle

sin @4 = R =5sin 8, (20)

+d

Figure 7-27 Light can be guided along a circularly bent fiber if R/d > 1/(n — 1) as then
there is always total internal reflection each time the light is incident on the walls.
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so that

1
Z; (21)

== (22)

PROBLEMS

Section 7-1
1. For the following electric fields in a linear media of
permittivity ¢ and permeability x4 find the charge density,
magnetic field, and current density.
(a) E = Eq(xi, +yi,) sin wt
(b) E= Eq(yix —qcii) cos wt
(&) E=Re[E, /™45
related so that J =0?

yJ. How must k., k, and o be

2. An Ohmic conductor of arbitrary shape has an initial
charge distribution po(r) at ¢t =0,

(a) What is the charge distribution for all time?

(b) The initial charge distribution is uniform and is
confined between parallel plate electrodes of spacing d. What
are the electric and magnetic fields when the electrodes are
opened or short circuited?

(c) Repeat (b) for coaxial cylindrical electrodes of inner
radius a and outer radius b.

(d) When does a time varying electric field not generate a
magnetic field?

3. (a) For linear media of permittivity £ and permeability u,
use the magnetic vector potential A to rewrite Faraday's law
as the curl of a function.

(b) Can a scalar potential function V be defined? What is
the electric field in terms of V and A? The choice of V is not
unique so pick V so that under static conditions E=-VV.,

() Use the results of (a) and (b) in Ampere's law with
Maxwell’s displacement current correction to obtain a single
equation in A and V. (Hint: VX(VXA)=V(V-:A)-V?A)

(d) Since we are free to specify V - A, what value should we
pick to make (c) an equation just in A? This is called setting
the gauge.

(e) Use the results of (a)-(d) in Gauss’s law for D to obtain a
single equation in V.
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.(f) Consider a sinusoidally varying point charge at r =0,
Q ™. Solve (e) for r>0.

Hint:

13 2aV) Fh
{2 )= 1%
rar(r or a_r§" )

Define a new variable (rV). By symmetry, V only dependson r
and waves can anly propagate away from the charge and not
towards it. As r » 0, the potential approaches the quasi-static
Coulomb potential.

Section 7-2

4. Poynting's theorem must be modified if we have a
hysteretic material with a nonlinear and double-valued rela-
tionship between the polarization P and electric field E and
the magnetization M and magnetic field H.

KP M

(a) For these nonlinear constitutive laws put Poynting’s
theorem in the form

0
v-s+a—':’=—P,,—P,—PM

where Pp and Py are the power densities necessary to
polarize and magnetize the material.

(b) Sinusoidal electric and magnetic fields E=E; cos wt and
H=H, cos wt are applied. How much energy density is dis-
sipated per cycle?

5. An electromagnetic field is present within a superconduc-
tor with constituent relation

i)
-l!= w“;eE
ot

(a) Show that Poynting’s theorem can be written in the
form

v.s+2_
ot

What is w?
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(b) What is the velocity of the charge carriers each with
charge q in terms of the current density J;? The number
density of charge carriers is n.

(c) What kind of energy does the superconductor add?

(d) Rewrite Maxwell’s equations with this constitutive law
for fields that vary sinusoidally with time.

(e) Derive the complex Poynting theorem in the form

V- BE@) xH*(r)]+ 2jo<w>=0
What is <w>?

6. A paradoxical case of Poynting's theorem occurs when a
static electric field is applied perpendicularly to a static
magnetic field, as in the case of a pair of electrodes placed
within a magnetic circuit.

(a) What are E, H, and §?
(b) What is the energy density stored in the system?
(c) Verify Poynting’s theorem.

7. The complex electric field amplitude has real and
imaginary parts

E(r)=E, +jE;

Under what conditions are the following scalar and vector
products zero:

(a) l}:-l}:;o
(b) E-E*20
(c) EXE10
(d) EXE*20

Section 7.3
8. Consider a lossy medium of permittivity £, permeability u,
and Ohmic conductivity o.

(a) Write down the field equations for an x-directed elec-
tric field. '
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(b) Obtain a single equation in E,.
(c) If the fields vary sinusoidally with time,

E,=Re[E.(z) ¢™']

what are the spatial dependences of the fields?

(d) Specialize (c) to the (i) low loss limit (o/we « 1) and (ii)
large loss limit (o/we > 1).

(e) Repeat (a)—(c) if the medium is a plasma with constitu-
tive law
a = wﬁs E

ot

(f) A current sheet Ky cos wti, is placed at z =0. Find the
electric and magnetic fields if the sheet is placed within an
Ohmic conductor or within a plasma.

9. A uniformly distributed volume current of thickness 24,
Jo cos wti,, is a source of plane waves.

€0, Ho €0, Mo

<—2d—>

(a) From Maxwell's equations obtain a single differential
equation relating E, to J..

(b) Find the electric and magnetic fields within and outside
the current distribution.

(c) How much time-average power per unit area is
delivered by the current?

(d) How does this generated power compare to the elec-
tromagnetic time-average power per unit area leaving the
volume current at z = +d?

10. A TEM wave (E,, H,) propagates in a medium whose
permittivity and permeability are functions of z, £(z), and
w(z).

(a) Write down Maxwell’'s equations and obtain single
partial differential equations in E, and H,,.

(b) Consider the idealized case where e(z)=¢ce and
m(z)=p e~ "' A current sheet Ko e™'i, is at z=0. What are
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the resulting electric and magnetic fields on each side of the
sheet?

(¢) For what values of a are the solutions spatially
evanescent or oscillatory?

11. We wish to compare various measurements between two
observers, the second moving at a constant velocity vi, with
respect to the first.

(a) The first observer measures simultaneous events at two
positions z, and z3 so that ¢, =¢;. What is the time interval
between the two events ¢; —¢3 as measured by the second
observer?

(b) The first observer measures a time interval At =t¢,~{;
between two events at the same position z. What is the time
interval as measured by the second observer?

(¢) The first observer measures the length of a stick as
L =z9—1z;. What is the length of the stick as measured by the
second observer?

12. A stationary observer measures the velocity of a particle
as U = yd, + u,i, + %,i,.

(a) What velocity, w'=u,i.+u;i,+u.i,, does another
observer moving at constant speed vi, measure?

(b) Find u’ for the following values of u where ¢ is the free
space speed of light:

(l) “=Coi:
(i) u = col,
(lil) u= Coiz
(iv) u=(co/V3)[ix +iy +i.]
(c) Do the results of (a) and (b) agree with the postulate
that the speed of light for all observers is co?

Section 7.4
13. An electric field is of the form
E=100 ei(?wxloet—".’rxlo"z)i* volts/m

(a) What is the frequency, wavelength, and speed of light
in the medium? ,

(b) If the medium has permeability uo =47 %X 10~ " henry/m,
what is the permittivity &, wave impedance 7, and the magnetic
field?

(c¢) How much time-average power per unit area is carried
by the wave?

14. The electric field of an elliptically polarized plane wave in
a medium with wave impedance 7 is

E=Re (E,oi, + E,o C#i,) ei(at—kg)

where E,¢ and E,q are real.
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(a) What is the magnetic field?
(b) What is the instantaneous and time-average power flux
densities?

15. In Section 3-1-4 we found that the force on one of the
charges Q of a spherical atomic electric dipole of radius R is

F= Q[E —Qd——]

_41T£oR(s)

where d is the dipole spacing.

(a) Write Newton’'s law for this moveable charge with mass
M assuming that the electric field varies sinusoidally with time
as Eq cos wt and solve for d. (Hint: Let wa = Q%/(M4meoR3).)

(b) What is the polarization P as a function of E if there are
N dipoles per unit volume? What is the frequency dependent
permittivity function ¢(w), where

D(r) = & (w)E(r)

This model is often appropriate for light propagating in
dielectric media.

(c) Use the results of (b) in Maxwell’s equations to find the
relation between the wavenumber & and frequency w.

(d) For what frequency ranges do we have propagation or
evanescencer

(e) What are the phase and group velocities of the waves?

(f) Derive the complex Poynting’s theorem for this dis-
persive dielectric.

16. High-frequency wave propagation in the ionosphere is
partially described by the development in Section 7-4-4 except
that we must include the earth’s dc magnetic field, which we
take to be Hyi,.

(a) The charge carriers have charge ¢ and mass m. Write the
three components of Newton’s force law neglecting collisions
but including inertia and the Coulomb-Lorentz force law.
Neglect the magnetic field amplitudes of the propagating
waves compared to Hj in the Lorentz force law.

(b) Solve for each component of the current density J in
terms of the charge velocity components assuming that the
propagating waves vary sinusoidally with time as ™.
Hint: Define

2_4qn quoHo
W, ="—, wo=—""—
me m
(c) Use the results of (b) in Maxwell’s equations for fields of
the form ¢’ to solve for the wavenumber & in terms of .
(d) At what frequencies is the wavenumber zero or infinite?
Over what frequency range do we have evanescence or
propagation?
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(e) For each of the two modes found in (c), what is the
polarization of the electric field?

(f) Whatis the phase velocity of each wave? Since each mode
travels at a different speed, the atmosphere acts like an aniso-
tropic birefringent crystal. A linearly polarized wave
Ep @ *%§ is incident upon such a medium. Write this field
as the sum of right and left circularly polarized waves.

Hint:

Eolx=?°(1=+11,)+—2-9(1=—11,)

(g) If the transmitted field at z = 0 just inside the medium has
amplitude E,¢**i,, what are the electric and magnetic fields
throughout the medium?

17. Nitrobenzene with u = o and £ = 35¢, is placed between
parallel plate electrodes of spacing s and length I stressed by a
dc voltage V,. Measurements have shown that light polarized
parallel to the dc electric field travels at the speed ¢, while light
polarized perpendicular to the dc electric field travels slightly
faster at the speed c_, being related to the dc electric field E,
and free space light wavelength as

1 1
———=ABE;
aq cu

where B is called the Kerr constant which for nitrobenzene is
B=43x10""%sec/V*® at A =500 nm.

(a) Linearly polarized light with free space wavelength A =
500 nm is incident at 45° to the dc electric field. After exiting
the Kerr cell, what is the phase difference between the field
components of the light parallel and perpendicular to the dc
electric field?

(b) What are all the values of electric field strengths that
allow the Kerr cell to act as a quarter- or half-wave plate?

{c) The Kerr cell is placed between crossed polarizers
(polariscope). What values of electric field allow maximum
light transmission? No light transmission?

Section 7.5
18. A uniform plane wave with y-directed electric field is
normally incident upon a plasma medium at z = 0 with consti-
tut‘ive law 8]/at = w,e E. The fields vary sinusoidally in time as
™,
(a) What is the general form of the incident, reflected, and
transmitted fields?

(b) Applying the boundary conditions, find the field
amplitudes.

(c) What is the time-average electromagnetic power density
in each region for w > w, and for w <w,?
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19. A polarizing filter to microwaves is essentially formed by
many highly conducting parallel wires whose spacing is much
smaller than a wavelength. That polarization whose electric
field is transverse to the wires passes through. The incident
electric field is

E=E, cos (wt — kz)i. + E, sin (wt — kz)i,
|
|
|
i
|
Vi

|
|
|
l wires
1
|
|
I

(a) What is the incident magnetic field and incident power
density?

(b) What are the transmitted fields and power density?

(c) Another set of polarizing wires are placed parallel but a
distance 4 and orientated at an angle ¢ to the first. What are
the transmitted fields?

20. A uniform plane wave with y-directed electric field
E,=E,cos w(t—~z/c) is normally incident upon a perfectly
conducting plane that is moving with constant velocity vi,,
where v« ¢.

(a) What are the total electric and magnetic fields in each
region?

(b) What is the frequency of the reflected wave?

(c) What is the power flow density? Why can’t we use the
complex Poynting vector to find the time-average power?
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* 8;
Yy
E:
i H;
Section 7.6
21. A dielectric (3, ug) of thickness d coats a perfect conduc-
tor. A uniform plane wave is normally incident onto the
coating from the surrounding medium with properties
(51, “1) .
€1, My
x E;
3 5
y

I !

0 d

(a) Whatis the general form of the fields in the two dielectric
media? (Hint: Why can the transmitted electric field be writ-
ten as E, = Re [E, sin ko(z — d) £'i,]?)

(b) Applying the boundary conditions, what are the field
amplitudes?

(c) What is the time-average power flow in each region?

(d) What is the time-average radiation pressure on the
conductor?

Section 7.7 .

22. An electric field of the form Re (E ¢™ ¢~ ") propagates in
a lossy conductor with permittivity £, permeability u, and
conductivity o. If ¥y = a +jk, what equalities must « and k obey?
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23. A sheet of surface charge with charge density o5 sin (wt —
k.x) is placed at z =0 within a linear medium with properties

(&, ).

0; = 0o sin(wt — &k, x)

€ u

(a) What are the electric and magnetic fields?
(b) What surface current flows on the sheet?

24. A current sheet of the form Re (K, '@ %74 ) is located in

free space at z = 0. A dielectric medium (g, u) of semi-infinite
extent is placed at z =d.

Re[Kqge jlwt —kex )i, ]

A

€0, Mo

(a) For what range of frequency can we have a nonuniform
plane wave in free space and a uniform plane wave in the
dielectric? Nonuniform plane wave in each region? Uniform
plane wave in each region?

(b) What are the electric and magnetic fields everywhere?

(c) What is the time-average z-directed power flow density
in each region if we have a nonuniform plane wave in free
space but a uniform plane wave in the dielectric?

Section 7.8 .

25. A uniform plane wave Re (Eq¢™™ ™% %*§) is obliquely
incident upon aright-angled perfectly conducting corner. The
wave is incident at angle 8; to the z =0 wall.
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(a) Try a solution composed of the incident and reflected
waves off each surface of the conductor. What is the general
form of solution? (Hint: There are four different waves.)

(b) Applying the boundary conditions, what are the electric
and magnetic fields?

(c) What are the surface charge and current distributions
on the conducting walls?

(d) What is the force per unit area on each wall?

(e) What is the power flow density?

Section 7.9

26. Fermat’s principle of least time states that light, when
reflected or refracted off an interface, will pick the path of least
time to propagate between two points.

¢y €2

~—hy—>

(a) A beam of light from point A is incident upon a dielec-
tric interface at angle 6; from the normal and is reflected
through the point B at angle 8,. In terms of 8;, 8,, h; and ks, and
the speed of light ¢, how long does it take light to travel from A
to B along this path? What other relation is there between 6;, 8,,
LAB, hl and hg?

(b) Find the angle 8; that satisfies Fermat’s principle. Whatis
6,?
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(¢) Interms of 8;, 6, h,, hs, and the light speeds ¢, and ¢3 in
each medium, how long does it take light to travel from A to C?

(d) Find the relationship between 6; and 8, that satisfies
Fermat'’s principle.

27. In many cases the permeability of dielectric media equals
that of free space. In this limit show that the reflection and
transmission coefficients for waves obliquely incident upon
dielectric media are: E parallel to the interface

_ _sin 8;—6,) - 2 cos 0; sin 6,
sin (6; + 6,)’ sin (6; +6,)
H parallel to the interface
_tan 6; —8,) _ 2 cos 6; sin 6,
tan (6;+6,)’ sin (6; +6,) cos (8; — 6,)

28. White light is composed of the entire visible spectrum.
The index of refraction n for most materials is a weak function
of wavelength A, often described by Cauchy’s equation

n=A+B/A?

ALEITLLEXIN

:Glass n=A+ )\%

White light

A beam of white light is incident at 30° to a piece of glass with
A =1.5and B =5x%10""" m®. What are the transmitted angles
for the colors violet (400 nm), blue (450 nm), green (550 nm),
yellow (600 nm), orange (650 nm), and red (700 nm)? This
separation of colors is called dispersion.

29. A dielectric slab of thickness d with speed of light ¢y is
placed within another dielectric medium of infinite extent with
speed of light ¢,, where ¢, <¢3. An electromagnetic wave with
H parallel to the interface is incident onto the slab at angle 6;.

(a) Find the electric and magnetic fields in each region.
(Hint: Use Cramer’s rule to find the four unknown field
amplitudes in terms of E;)
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€1, Ht €1, 4

(b) For what range of incident angle do we have uniform or
nonuniform plane waves through the middie region?

{c) Whatis the transmitted time-average power density with
uniform or nonuniform plane waves through the middie
region. How can we have power flow through the middle
region with nonuniform plane waves?

Section 7.10

30. Consider the various prisms shown,

" \\
457 ny P~

2

4]

60\

BN

(a) What is the minimum index of refraction n, necessary
for no time-average power to be transmitted across the
hypotenuse when the prisms are in free space, ng = 1, or water,

ng=1.33?

(b) At these values of refractive index, what are the exiting

angles 8,?
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31. A fish below the surface of water with index of refraction
n=1.33 sees a star that he measures to be at 30° from the
normal. What is the star’s actual angle from the normal?

oc

n=133

32. A straight light pipe with refractive index n; has a dielec-
tric coating with index n; added for protection. The light pipe
is usually within free space so that #ns is typically unity.

(a) Light within the pipe is incident upon the first interface
at angle ;. What are the angles #; and 65?

(b) What value of 8, will make 65 just equal the critical angle
for total internal reflection at the second interface?

(c) How does this value differ from the critical angle if the
coating was not present so that n; was directly in contact with
ns?

(d) If we require that total reflection occur at the first
interface, what is the allowed range of incident angle 8,. Must
the coating have a larger or smaller index of refraction than
the light pipe?

33. A spherical piece of glass of radius R has refractive index
n.

(a) A vertical light ray is incident at the distance x (x <R)
from the vertical diameter. At what distance y from the top of
the sphere will the light ray intersect the vertical diameter?
For what range of n and x will.the refracted light intersect the
vertical diameter within the sphere?
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(a) (b)

(b) A vertical light beam of radius @R (e <1) is incident
upon a hemisphere of this glass that rests on a table top. What
is the radius R’ of the light on the table?
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